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. ) . _ prod
we Prérn:;ag Gooking which is ne:::;.sama” be of the fq
product, eg INK cannpt be sold Ty for the Produ
as p:art fﬂ'f direct materig|s Cost Without a cont
2. Cost of packing which '
rotecting th | ;
p g those against damage or Jogg in i On of product to distant places and in

article packed separatg|
. Y packin ' iransit Is \reated as distributi
3. Fancy packing meant { g cost is dire as distribution cost. If each

ct otherwise |
"LLo attract cyst se It is lrealed as overhead.
treated.as an advertisement Expenaeuarg:r: IS a form of an advertisement, the cosl is

if) Bad Debts : elling overhead

Some accountants are of th
from cost accounts. If, hnwifeﬁhct;n Lhat bad debts are financial losses and thus excluded
selling cverhead to th - 0ad debts are include

3 the extent d in cost, it should be treated as

itis regard \
the abnormal bad debt must not be ir?clu;:dﬁs EEQTSL::.?;;“E course of business. It means

ipmng three types
Clion and convenient handling of the
ainer. The cost of such packing is treated

i) Research Costs :

The following are the various methods of treating these cosls in accounts:
Situation ]

i, Cost of research relating to Treatment _
manufacturing EC“’Uitiegg gﬁ:ﬁiﬂ sha treated as part of Production
ii. Cost of research relating General
iy It soul istrati
management administration Dverh:agg treated as part of Administration

iii. Cost of research relating to marketing | It should be treated as part of Selling &

__activities Distribution overheads
iv. Cost of research relating to a particular | It should direclly be charged to that
product. particular product.

v. Other situations It should be treated as deferred revenue
loss and should eb charged to Costing |
Profit & Loss Account over a period. K

iv) Insurance .
Insurance Premium for Treatment
(a) Direct Materials It is treated as part of direct material cost.
(b) Indirect Materials and factory fixed It is treated as part of Production

assets like Building, Plant & Machinery overheads | _
(c) Fixed Assets of Administration It is treated as part of Administration

Department overheads 1
(d) Fixed assets of Sales Department It is treated as pari of Selling overheads.

romotion Expenses fAdvem‘semnnt): | |
| i:if't;ement for 55&5 promotion is 3 selling overhead. When advertisement is for

el - d to the products concerned. On the other hand,
individual products, it should be allocate tﬁan o oroduct, the cost should be

dvertisement is for more ‘ _
Whenrt'a gzm::?nthz basis of sales turnover or any other suitable Ea:.vls.adHe::E
gggzrﬂiggments the benefits of which is derived over years, should be deferr

charged to the goods sold in the future periods.

vi) After Sale Service : ~— Troatment
Type of Cost of After 528> It is lreated 3aS part of Production

: ement
i. Cost of free repairs and free replac Overheads

of defective parts anc comPONErTS i is treated as part of Distribution

ii. Cost of replacement of parts and R R s
components damaged IN transit.

their wages, salaries and

vii) Fringe benefits : : in addition 10 :
sl workers usually enjoy certain b'-’-'"emffmge benefits, are COsts incurred by the
naustrial wor e benefits, known 83 work done by workers. Fringe Benefits

other allowances. TheS
employers which are not | )

-
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- T I retinng ben IS K€ peng;
include canteen benefits, maternity |?_3”E ”aré hﬁ:ﬂﬁgnﬂ?ﬂnd. bonus, elc. on
and gratuily, medical employers contribution o P spective departments, of EHErnatWﬁh
to resp per of workers.

The cosl of these benefits is allocated | gl
apportionment is made on the basis of wages paid or

viii) Inspection Cost:

Inspection department Is @ se
production departments on the basis .
Inspection Department in each departmen

ts total cost is apportioneq o

he time spent by the staff
for this purpose,

and
ndered. T

rvice UEpEﬁmEm
prnprtﬂtﬁ' basis

of services re
is an ap

ix) Data Processing Unit : | \ should be apportioned to varigy,
. - : g, this €cO5 : - s

DBl e o adse;’_wﬁe ::;Jr:::'l?s’;lrgﬂzn and sales on the basis Sf rela[me SeMVice

e énts The various basis of distribution may be .

processed

departments like
rendered to various depailm
a) Number of cards punched and
b) Number of reports prucessed
c) Man hours or compuler hours

- it Sharing) - :
Bonus Paid to Employee (Profit Sharing) s an appropriation of profit. It shouig

| : it and is th L
Profit sharing bonus IS payable out of prof r the Payment of Bonus Act, a minimum bonuys

ded from costs. In India, unde Ini
::L;i::b?:iuempluyees irrespective of profit of loss. The amu:nt OLEU;T; r;r:Taunr; bonus
payable should therefore, be treated as an overhead and any Dﬂduf pm e 2 above
this should be treated as an appropriation of profit and excluded 1ro t;us - Some cost
accountants prefer to treat the entiré amount of bonus as overhead and apportion it g

various departments on the basis of wages of each department.

Q.11. Whal are the pre-requisites of good method of absorption of overheads 7
{ production overheads should poOSSesS the following

Ans.. A good method of absorption ©

characteristics .
1 It should be simple to understand and easy 10 adopt.

2 It should take into consideration the time factor.
It should distinguish between the work done by skilled workers and work done by

3.
unskilled workers.
It should distinguish between the work done by manual labour and the work done by

machine.
5. It should not cause very much under/over absorption of overheads.

6. It should be economical to use.

4,

Q.12. Define various capacity levels .

Ans.: 1. Maximum or Installed or Theoretical or Rated Capacity : It refers to the maximum
pq;sslble pru?ucitlun that can be achieved if there is no loss of operating time. For example
- If a manufacturing unit works for 8 hours in a d | ty s
hours per day i.e. 2,920 hours. 9. maximum capacity is 365 days x 8

2. Practical or Operating Capacity :
| pacity : It refers to the possible '
Op . rod
;u.;f;:ﬁ:ﬁgntamnr? [l_ntn consnderatmln the normal loss of capacity F::\r aL::f:tc]:\?Jn tth?t o 'be
ce, holidays, stock taking, etc. For example - a n‘lEIHUfECturin; uzit \E:E;rsﬂ.

hours in a day for six days | ‘
| ys in @ week and remains cl '
In such a case the practical capacity is computed ;eTsiq SN PRI Yo fosiivn roldaye,

itdax@um Capacity (365 days x 8 hours)
ess . E‘u;jgays (52 x 8) 416 ho 2,920 hours
clidays (18 HIs
= b ys (18 x8) 144 hours 560 hours
. Normal C ity -
apacity : It refers to average capaci £.300 hours

ime. For example, taking i . | ty utilization .
come to the cur?cfﬁsfurﬂﬁ;?m consideration the Capacity l.ltilizz’:rI pulec Dyer.a penqd of
are produced in 1 hour, nor ﬂ?rmm Oulput achieved in a year | et J years, if.\e
4. Actual Capacity : |t re mal capacity ulilization in a year i 11;:-. 33&000 o
/e tone capacity actually achieved durj | el
- Ing a given period.
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cement factory sells ce _
a information relating to s I“"Eﬂt In four zones —
z0nes Sales ales. transportation and s?;l:-L Sf’u'ih. East and West. Below is the
. 0.
(T inCrore) sales of Per salesman DA;?rmEFL
men Distance ertisement Average
North 10 50 (kms.) Budget (%) Stock
SDUth 5 2 100‘0 a H’ n CI"'UI"EJ
0 30% 3
Easl 6 30 2,000 259, 1
_ Expenses incurreq d1 i 20% 1
??Q?Zﬁi;f;.a'“ representatives uring the previous year are as follows
l owances of , 56.00,000
Advertisement cost sales representatives 1,95,000
Godown rent 5,00,000
Insurance on out-station stocks 3.50,000
Commission on sales 70,000
Carriage outward 25,00,000
Total selling distribution overheads _4.10,000

[Ans.:
Q.2.

[Ans.: A ¢3,49,720; B

L . _ I 9625000
DI!'IZ":;T':IE Stléfegreilljt selling and distribution overheads to each zone on appropriate basis
> P elling overhead rate as a percentage to sales for each zone.

3.82%, 3.48%, 4.13% and 3.97%].

You are given the following overheads relating to a factory :

Factory Rent ?143.000; Puwer 2 23,000 Depreciation ¥ 1,00,000; Store Room Expenses
7 30.000: Indirect Material ¥ 60.000; Canteen subsidy ¥ 25,000, Indirect Labour

¥ 90.000; Employer's contribution towards ESI T 50,000 Light ¥ 18,000. Factory
supervision ¥ 75,000.

Following are specific cost details relating to its five departments A B, C, P and Q of
which A. B and C are production departments and P and Q are service departments .

Production Departments Service Departments
A B8 C P Q
Area (Sq. mts.) 2.000 1.00C 500 800 500
Hours worked 1,000 1,000 1,000 BUE 5{2{;
Horse Power of Machine 80 80 30" 4
Traceable overheads (%) 50.000 80,000 30,000 20,000 25,000
Value of Plant (%) 400,000 400,000 1.00,000 1,50,000 iﬂ,ggg
Direct Material () 1,00,000 1 50,000 1,50,000 1,§g,ggg 22, -
Direct Labour (%) 2,00,000 1,00,000 1,00,000 .200 ,3gn
No. of workers 800 700 500
No. of Material 300 1000 300 400
Requisitions 500 30 25 15 10
Light Points 100

cheads of service department P are to

5. Ove
basis. department Q are to be

Depreciation 1S charged on straight line 5:3:7:5 and that of

. the ratio of
be shared b A B, Cand QIn ¥
Sharedrby A,YE, C and P in the ratio of 1.2:3 &

7305738, C 73,18,542. Depreciation

basis of value of machineés.

has been apportioned on the
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and two service departments x

dC _
rtment A, b an rious EJ'EPE”EEE

Q.3. A company has three production depa _
The i able regarding Y % 2,400

and Y. The following information is avail

Power 72,400 Maintenance of bumj'ﬁngs 1.200

Rent 4200 Fire precaution service 1,000

Canteen 3.000 Insurance on assels ital value)

Personnel Deptt. 3.000 Depreciation (10% of cap!

Time Office 1,000 ents Service

me Production Departm Departme,
74000  T4000  ¥3.00 Z'D??:u 1o
Area (sq. metres) 2..000 2200 800 400 250
ot 0 Vm e w9
. 6 20
. '000) 7 50

Capital value of assets ('000) the following

nts in
The services of X and Y departments are used by the other departme

proportion : o o - % Yn
X 25%  30%  25% - 20%
Y 40% 20% 30% 10% - o |
Calculate total overheads of production departmentﬁ_ after reapportioning service

department overheads.
[Ans.: A ¥13,553; B ¥14,958 and C ¥9,690]

Q.4. In a factory, there are two service departments P and Q and three production departments
A, B and C. In April, the primary distribution is:

A T6,50,000 PT1.,20.000
B 6,00,000 Q¥ 1,00,000
C X 5,00,000
P is Personnel Deptt. and Q is Stores Deptt. Other information is as follows :
A B C P Q
Number of Employees 30 40 15 10 15

Direct Material Cost (%) 4,00,000 3,00000 250,000 50,000 60.000

Prepare a statement showing the distribution of the two service department expenses to

three production departments under the “Repeated Distribution " .
Equation Method. P Method” and Simultaneous

[Ans.: A ¥7,35,340; B ¥6,86,045; C v 5,48,615]

Q.5 :n?\Tpgny tgai thretedpmductinn cost centers A, B and C and two services cost centers X
- VOSIS allocaled to service centers are required to be |
‘ | apportion |
EE::E; t;:: ﬁnt_i out cost uf_ production of different products, Iltjlijs fnun?ldt::rtzﬁtp?dum'm
niers is also received by each other along with the proguction cus? ciir:?f:

Overheads costs as allocated to th
: e five cost :
centers received by each of them are as underc*emem fnc estimates of benefit of service

- Overhead costs '
Cost Centres as allocated () Esﬁr";f:;:fg:’;ﬂ? mci::ved
ers
X Y
20

30
40
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. . nal
including reapportioned cost uuf

and {b) SimUItEnEDUE Equﬂtiun
[Ans.. A 786,533,B7 49,19¢-:

Verheaq Cos

: s of
Service Centers uaiE
Method.
C¥ 34.271]

nﬂﬂh of the production departments
9 (a) Continuous distribution method

A company has 3 production ge
: Partment
he following data are e SA Ban
TA] Xtracted from the records n? tE and two service departments X and Y.
( ® Company for a particular given period:

(i) Rentand rates (D
(i) General lighting = 25,000
(i) Indirect wages 3:uuu

(iv) Power 7500

(v) Depreciation on Mmachinery 7.500
| f“il _Sundries 50,000
d 50,000

(B) Additional data, department-wise

Departments

B c
10,000 | 15,000
30 30

Direct wages (X)
Horsepowers of machines

used

Cost of machinery (X)
Production hours worked
Floor space used (Sq.

15,000
60

3,00,000 | 4,00,000 | 5.00,000
6,226 I 4,028 4 066
2000 2500( 3,000

15 20

Service department's expenses allocation
—-E--E-
X | 20% | 30% | 40%

30%
dto :_(a) Compute the overhead rate of production departments using the
repeated distribution method; and (b) hence, determine the total cost of a product whose

direct material cost and direct labour cost are respectively 3250 and I 150 ar_1d which
would consume 4 hours, 5 hours and 3 hours in departments A, Band C respectively.

[Ans. (3) T 7.50, BT 11.25, C T 15 (b) X 531.29]

You are require

: ing” * ing" and two service
departments, “spinning” and "Weaving" an _
ncosf: of operating the two service departments, their

dered to other departments are as follows :
From service departments

A textile mills has two productio
departments, S and S; thal
outputs and quantum of service refl

To Spinning
Weaving
2 i Distribution summary - _ 7 120,000
Total Cost as per Primary . Service Deptt. S =X 1, o0
- Spinning T 2,00,000 . gervice Deptt. S2 22,60,

- Weaving 3.00.0?0 o
Prepare Secondary Distr 73

it. =
Total amount of Spinning Dep = ¢ 4,96,000

Total amount of Weavin
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Q.8. /’ﬁleerut Manufacturing Com
through three production dep

[Ans.:

Q.9.

pany makes several

artments X, y and Z.
follows Direct

The relevant data for a year are as
Factory ﬂFEFhEﬂ'd D "m"::r Labour
(including share of Labo Cost
service Hours
department) 80.000 1.60,000
Department X 1,24,000 1.15,000 2.41.500
2.30,000 105,000 1'99.500
dplply lowing for the product ling

Department Y o
Department £ 5 46, n ol
Production records at the end of the year indicated the

‘Krish'.
Deptt. Z

Units produced ;
Deptt. X Depft.
Prime Cost 745000 % 105.531[?0 3 Efdﬁélgn
Direct Labour hours 10,000 ‘ :
Y required to . |
a.nug;?cu?;ts; the departmental and plant-wide, over-head re pased on direct labour
Plant-wide rate and (i)

hours; _ _
b. Compute the cost of ‘Krish' line for the year Dy using (i)
departmental rates. and

c. Comment on the results.
(a) T1.55(X), F2(Y), TS 20(2Z); T3 rPIﬂnr-wida);

(b) (i) T2,50,000; (i) T2,96,500;

(a) Plant-wide rate leads fo under-absorption of overheads by F 46,500].
machine hour rate is worked out at the beginning of a year on the
which is equal to three calendar months. The following

hines are relevant

In a machine shop, the
basis of a 13 week period

estimates for operating a mac

Total working hours available per week 48 hours

Maintenance time included in the above 2 hours

Setting up time included in the above 2 hours

Cost details :

Operator's wages (per month) % 650

(Supervisory salary (per month)

(Common supervisor for 3 machines) T 1,500

W.D.V. of machine (depreciation at 12%) %1,80,000

Repairs and maintenance (per annum) < 16,000
< 30,000

Consumable stores (per annum)
Rent, rates and taxes (for the quarter apportioned) < 5,000

ﬂ ‘ "

Eﬂ:;r;?"sg”";d is @ 2 units per hour @ X 3 per unit. Power is required for productive
urs only. Setting up time is part of productive time but no power i | :
up jobs. power is required for setting

The operator and supervisor ar
e pe i -
stores are variable. permanent. Repairs and maintenance and consumable

You are required to : (a) work o i
: - ut the machine h
tﬂ e ® . E Dur ral " P
of é%en/”:éslde party for utilizing the idle capacity in thF:Ehnﬂu(h)h%!"rl::rrk N3 ING rate for QUL TR
o above variable cost. [Ans : (3) 748.13. (b?iolr;%shops assuming a profit
. : . ) J.
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overheads were (e
were 2,93,104. Hoy, woulg Production af E?EEU ON narmal waorking of the factory,

re produ ’ you
wewnrliin- ;Ed of which 7,000 Proceeq 1o close ti-?a Per hour. The actual hours worked
in | .p gress 7 €re solg andE h““"‘-? of accounts when 7800 units
On invesligation, it wge In addition 200 equivalent unils were

increase in the co foung that 50,

st of :
due to fﬁﬂtﬂw il’”IE'fﬁciEnI‘:r;ﬂIE:L

Under-absorption dye {0 incregq

of th

Materials gng ?nsnabsmhﬁﬂ overhead was on account of

9ive the profit '"eCt labour and the remaiming 50% was
't Implication of the method suggested.

{Ani-: s€e jn
Cost =
¥40,000 and due o inefficiency = ¥ 40,000]

4. The budget of a mgcp;
01" Normal working week - SMOP for ayear i as foll
Number of machinesg Ows
Hours spent on mainten -
Estimated annual D,,,Erh:;‘;ﬂ N a week (Normal loss)

42 hours
15

S hours per machine

Estimated direct wages rate ¥ 5.55,000
Number of working weeks in o year 3 3 per machine hour
| 50
The actuals in respect of 5 4 week peri
Overhead incurred Period are -
Wages paid I 49,000
Machine hours operated 7,500
2,400

Calculate (i) the overhead rate Per mac

or over-absorption of overhead and wa hine hour for the year and (i) the amount of under

_ 3 ges in respect of the 4 week period.
[Ans : (i) 20, (i) Under-absorbed overheads 7 1,000 and wages ¥ 300].

Q.12. For the year 2012 - 2013 an organization budgeted output of 50,000 units and overheads
of ¥ 7,00,000. Actual output was equivalent to 60,000 units and actual overheads were
¥ 8,00,000. It was decided to absorb overheads on per unit of output basis. Of the total
output 48,000 units were sold during the year. Unsold stock of finished output was 8,000
units and there was work-in-progress of 10,000 units, each unit approximately 40%
complete. Calculate : (i) Overhead absorption rate, (i) Extent of over or under absorption,
(iii) Supplementary rate, and (iv) Accounting entry for dealing over or under absorption.

(i) T 14 per unit; (i) < 40,000 (over-absorption) (i) T0.667,

(iv) Overheads A/c. Dr. 40,000
To cost of Sales 48,000 x 0.667 = 32,000.

[Ans :

40)
70 WIP A/ c. 10,000 x T{_}'E x 0.667 = 2,667

To Finished stock 8,000 x 0.667 = 5,333].

i i the overheads allocable to Production
win articulars, calculate |
e t thEntsﬁ?lllz?& C? Tiere are also two service departments Sy and 832 S renders t
ngar ;“E séwice worth £ 6,000 to S, and the balance to P& Q as 3 <4, 92
y renaers r

serviceto P & Q as 9:1. 5 - S -

2500 | 2,000 5:12 5305
s (€ nia Szl el %
Assets & in |akh) 00 0 0 50
H.P. of Machines 0 - 5 2
No. of workers

Light & Fan Points —




COST ACCOUNTING 8.26 ?—
7 - —
: es
E!;?J?En;z:ni:harges. 95.000 | Rent, Rates & TaX
Insurance 7,600 E.Erﬂl//
Canteen Expenses 5400 | E€
[Ans : Deptt. P (¥92,926) and Deptt Q (745.474)] n e
' rticulars have D€
Q.14. In an engineering factory. the following p:tal “verhead rate for eac

ended 31-12-2001. Compute the departme

e oy Ty T

___——— CARK ueura

[d

=

18,000
10,000
2,400

percentagd®€

B
i

sy
L .

xtracted for the year
h of the production
of direct wages:

edasd
departments assuming that overheads are rec_ci'f[_________ is —Service Departments

' Sroduction Departme=——= 71— X -
Particulars ____.f_'?__i- B - Dng =500 T

E ¥ L]

0,000 45,000 ' 0 22
Direct Wages  ( 75'000 | 30,000 | 30.000 2250 750
Direct Material () 1500 | 2250 2,250 1 500 1 500
Sectnalty 5000 | 4500 | 3907\ 40000 | 10,000
E'ECTG'“, g;m.) 60000 | 40,000 30.003 008 o

ssets value 16
Light points 1;3 250 50 50 50
Area (Sq. metres) _ _

The expenses for the period were. - e
Bower 1,100 | Depreciation 3233%
Lighting 200 | Repairs 121000
Stores overhead 800 | General overhead .550
Welfare to Staff 3000 | Rent and Taxes

es and those of

Apportion the expenses of Service
Service dept. X in the ratio of 5:3:2 to th

[Ans : Deptt. A 169. 99%, Deptt. B 10

A Ltd. has three Production departments P, P2

dept. Y according to direct wag
e Production departments.

1 8%, Deptt. C 77.24%]

& P, and two Service departments S, and

Q.15. '
S,. The following data are extracted from the records of the company for a particular
given period: 7 s
Rent and rates 25.000 | Power 7,500
General lighting 3.000 | Depreciation on machinery 50,000
Indirect wages 7.500 | Sundries 50,000
Other Information:
Direct wages_{?) 15,000 | 10,000 | 15,000 7,500 2,506-
H.P. of machines used 60 30 50 10
Cost of machinery () 3,00,000 | 4,00,000 | 5,00,000 25 0
L0, U0, 00, 000 :
Floor space (sq. ft.) 2,000 2,500 3,000 2,000 % ggg
No. of light points 10 15 20 |
Production hours worked 6,226 4,028 4,066 " i
Expenses of the Service departments S, and S, are apportioned as below °
P, P l
2 P
31 20% 30% 40':/# Sy Sz
LS 40% | 20% o =1 &
You are required to: - 30% 10% -
(8) Compute overhead rate per producti
per production hour of each production department.

(b) Determine the total cost of P ‘
roduct x which i
Py P, and P; for 4 hours, 5 hours an L

cost is X 250 and direct labour cost is
T 150.
[Ans. (a)T 7.5, 11.25 and 15 (b)X 531.25)

AL

d 3 hours res

§ processed f

€d for manufacture in department
pectively, given that its directpmaterial

1

/

-
o
&
2l

”
I
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46. XYZ Ltd. has three p, .
@1 and Y. The following goy-clon depa

CA R. K. MEHTA

. tm
ertain to them: ®nis P, Q and R ang two Service departments X
Directwages @)  ————_ |  F
Worked hours 3,000 Q R X Y
Value of machin - 2,000 3.000| 4.500 195
=hine () 3.070 | 4,475 2,41 -
HP of machines 60,000 ED'UDU 419 -
Light points 80 ' 2 1.UD,Dgg 5.022 5,000
Floor space (sq. ft.) 10 5
; : 15 20 10 5
The following figures are extracteq 2.000 | 2500 3,000 2,000 500
Rent v [4
Lighting °.000 | Indirect wages 1,939
Power 1 Egn UEpre_uiatiun on machines 10,000
Find overhead recovery rate per hD;..IF o oodries 208

R and Y in the ratiggfur Production departments, if X's expenses are

X re 2 :3:4:1 and Y's expenses are distributed in the
(Ans. X 3,32 and ¥ 5.03) Spectively. Use repeated distribution method

Q1 L’;iﬁ;:'ﬁt?nrsbéiﬁtmg to four machines are as follows:
Cost [ I ] v
| ®) 50,000 | 40,000 | 30,000 | 20,000
Area Occupied (Sq. ft.) 500 450 300 250
Light points 10 8 8 4
No. of Workers 20 15 8 7
Direct Wages ®) 1,500 | 1,200 | 1,000 500
Horse Power to Machines 25 20 16 14
Consumable Stores (T) 100 80 75 50
The Expenses incurred were as follows : :
(
Rent and Taxes Eﬂg
Lighting 2 800
Depreciation 700
Repair & Maintenance a75
Power 5040
Indirect Wages 205
Consumable Stores 100
Canteen Expenses 420
General Expenses

te the machine hour rate for a month of 25 working days with 8 working hours
X E;?I:rf:ferage. fAS 13.5: > L?:::Jﬁgg f}fﬂ g:ln-crifc?h if the material cost is X 10
ion ' ,
By o thte cgsggfapr:?i?irocessed for 1 hour , 2 hours, 3 hours and 4 hours In
Labour cost —

Machines |, I, lll and IV. (Ans.3 142.12)

3 cost centers having distinct sets of machines. The following
as

Q18. A machine shop of a factory h

1. 1
estimates are available for the year :,Zrﬂu{iai for the Cen;re I Cen;re i Cent;e i
factory & 000 60,000
18000 5[1]'?133 53'.500 2,500
| S 5,000 .

Direct Wages — 5,000

Share of service exp 13'000

Power |

Repairs and Maintenance S'QES

Insurance ;;,,gun : a
Rent ,

W
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: 14,400
Indirect wages -
Labour Welfare Expenses 3 ggggg 1.00,000 T5.gig 1 .Eﬂ.g{ég
Value of Machines t 120
Floor Area (Sq. Feet) 10 - Dag " Dﬁg
Power of Motor (H.P.) E'HDE gt . o
Machine hours 1 8 |
No. of Workers L |
Machine are depreciated al 10% p.a. head absorption for each of machine
(a) Compute a suitable machine hour raté of over s
centre. (Ans. ¥ 6, 4.42 aad4 0 bove three cost centers and the required in each
h all the above
(b) Job No. 201 passes throug
centre is-
urs _
Centre | - 4 hours, Centre [1-3 hours. Centre |1l -8 ho a profit of 25% on cost if its

Q.19. The following expenses

Q.20.

1 to yield _
What price should the company quote for Job No. 2?0500 gnd z 300 eapectively and other
direct materials and direct labour are estnmatei ﬂ }

expenses are 20% on works cosl. (Ans. T1,412.

have been incurred in respect of a shop having 4 identical

machines Z 6,000 p.a.

Rent and rates
0 paise per unit 7 4,800 p.a.
:Z\::Irr:onsumed by the shop @ 10p P £1000D.a.
Lighting for the shop : 822 p.i..
Attendants two each getting p.m,
Supervision salary X 600 p.m.
Lubricants etc. T 100 p.a.
T 600 p.a.

Depreciation per machine (Variable Cost)
Each machine consumes 10 units of power in an hour.
You are required to calculate the machine Hour rate. (Ans. Y 4.95)

Compute machine hour rate from the information given below pertaining to a particular
machine.
. (T p.a.)

Eent of the department (space occupied by the machine is one fifth of the

eptt.) |

. 780
Lighting (number of light points in the department is 12, two |i '
e meshine) , two light points on
Insurance efc. s
Cotton waste, oil etc. %
Salary of foreman (one fourth of the fi 's time i >

) _ orman’'s time is '

machine and the remainder equally upon other two machir?:srpmd o 6.000

Tl?e cost of the machine is ¥ 9,200 and has estimated SCrap value of ¥
Itis assumed from past experience that: o
(1) The machine will work for 1,800 hours per annum

(i) It will incur expenditure of 2 1.1

maintenance. 25 in its working life in

réspect of repairs and

(ili) It consumes 5 units of power per hour at t

- . he -
(v) The working life of the machine will o= 016 paise per uni

be 18,000 hoyrs (Ans. 3 1.86)
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th p
Maching © Costing records of a factory:

i) The original cost of the available form
Estimated life
Residual value < 1,00,000

Factory operators for 4 ;[I;',r[;e;s
Allow 15% towards mg “52 weeks in 3 year. |
5% may be allowed as ; . Ce downtime.

(iv) Two operators attend

ine hour rate. (Ans. T 27.95)

From the following information COmpute machine hour rate:

Cost of the machine Z 44.000.

Scrap value T 4,000.

Rent for the workshop X 25,000 per annum.
General lighting for the workshop Z 160 per month.

Power consumption 20 units per hour @ T 20 for every 100 units.

Administrative expenses allocated to the machine ¥ 4,000 per annum.

Repairs and maintenance 75% of depreciation.

Workshop supervisor's salary X 3,000 per month.

Estimated working time per year 50 weeks of 40 hours each.

Setting up time which is regarded as productive time 200 hours per year. No power is

used.

Effective life of the machine 10 years. Depreciation is a variable cost.

rea of the workshop. The supervisor is expected to devote

chine occupies 1/4" a
The machi P the machine. (Ans. T 18.47)

1/3™ of his time in supervising

The following information relates to the activities of a production depar}men’t of a factory

for a month:
(¢
1,80,000
Direct MEtEfiEl CDﬂEUFnEd 1.5&00“
Direct wages N 1.26.,000
Factory overheads chargeable to the deparim 12.000 hours
Labour hours worked 10.000 hours

Machine hours worked S
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Q.24.

Q.25.

partment during the perigg N
&

i in the de
The relevant data relating to one order carried out in t

as follows: ) — \\Ti
-
Material Consumed :: 22{:‘
Direct wages 1,650 hour
Labour hours worked ) 4 -
Machine hours worked Ours |
and the amount of overhead chargeapq to

Compute Factory overhead rates of recovery
the order by the following methods:

(i) Direct Material Cost percentage,
(i) Direct Labour Cost percentage,
(iii) Labour Hour rate;

(iv) Machine Hour rate.
(Ans. (i) 21,000 (ii) T 20,790 (iii) 717,325 (iv) ¥15,120
ear of operations of S.V. Ltd. were as follows;

Budgeted and actual data for the first half y -

v 4

Direct labour hours 68.000 | Overhead : Fixed 37.400

virect wages 42,500 Variable 64,600
Actual Data (January to June):

Direct labour hours 65,000 | Overhead : Fixed 38,700

Direct wages 45,500 Variable 65.800

d is by a direct wages percentage rate. A

The existing method of absorbing overhea
direct labour hour rate

proposal has been made to change the overhead absorption to a
analysed into fixed and variable overhead.

You are required for the period January to June to calculate under the new proposal (i.e,,
using direct labour hour rates of absorption) :

(i) the budgeted direct labour hour rates of overhead absorption for fixed and variable
overheads; (ii) the absorbed overhead, (iii) the over or under absorbed overheads.

For the year 2012 - 2013 an organisation budgeted output of 50,000 units and overheads
of X 7,00,000. Actual output was equivalent to T 60,000 units and actual overheads were
< 8,00,000. It was decided to absorb overheads on per unit of output basis. Of the total
output 48,000 units were sold during the year. Unsold stock of finished Uutp;ut was 8,000
ES;LS I:Fed (t:h?rel was work-in-progress of 10,000 units, each unit approximately 40%
- E‘fu : a cr ate : (i) Overhead absorption rate, (ii) Extent of over or under absorption
pplementary rate, and (iv) Accounting entry for dealing over or under absorption.

Q.26. AT Ltd. an engineeri '
Ltd. an engineering company having 25 different types of automatic machines,

furnishes the following data for 1994-95, in respect of machine ‘B":
1. Cost of the Machine |

Life 10 years

2. Overhead Expenses are ¢ 5,000
Factory Rent ?
Heating and Lighting 50,000 p.a.
40,000 p.a.
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Supervision —_— T
Reserve EQuipment fo Mach T ———___ CAR K MEHTA
Area of the Factory ne B 1.50.000 p.a.
Area occupied by Machine " 5,000 p.a.
80,000 sq. ft.
Power rost 50 q
Palse per houy 3,000 sq ft.

Wages of operator ¢ 4
o one machine when

Estimated production hours
Estimated set up time
Prepare a schedule of

mclu-::img
0
Machines while under operation.

all fnnge penefits. He attends

3,600 p.a.
400 hours p.a.

L _ COMprehensi :
following Jobs: NSIVe machine hoyr rale and find the cost of the
Set up time (Hours) Job 1102 Job 1308
Operation time (hours) 80 40
130 160

(Ans. Comprehensive Machine hours rate 7 7,84

(Set-up) and ¥ 6.84 (operating)

g.27. The following information relate -
period in a factory: s 1o the activities of a production department for a certain
Material used ¢
Direct wages 72,000
Hours of machine operation gg'ggg
Direct Labour hours worked 24 000
Overheads chargeable to the department 48,000
On one order carried out in the department during the period, the relevant data were:
Materials used < 4,000
Labour hours 1,650
Direct wages ¢3,300
1,200

Machine hours

Prepare a comparative statement of cost of this order by using the following three
methods of recovery of overheads.

(i) Direct Labour-Hour Rate Method, (Ans. 10,600)
(i) Direct Labour Cost Rate Method; and (Ans. 9,94)
(iii) Machine Hour Rate Method. (Ans. Y 10,180)

ed accounting system and applies overheads on the basis

egral s form the Trial Balance as at 31-3-

Your company uses an int
. termi The following are the figure

of “‘pre-determined” rates.

Q.28.

L4
Manufacturing overheads | g:i:;: g:
Manufactunng overheads applied 1*| 4 1: 480 Dr.
Work-in-progress 2,30,732 Dr.
Finisned goods stock 8.40,588 Dr.

Cost of goods sold er the following two methods,

You are required to sho
(i) Write off to profitan
(i) Adjustment to cost O

w the profil implications und

count.
c.’:‘ E;i-: End nventories of WIP and finished goods.

e —
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Q.29.

Ans.

Q.30.

Ans.
Q.31.

Ans.

Calculate machine-hour rate for recovery of overhead

information .
is T 1,00,000. Eatimamd

e value

Cost of machine is ¥ 25,00,000 and estimated salvagd Y s are 3,000 in the factg

working life of the machine is 10 years. "« and maintenance. Setting-up time
ctive time. Cost of repajg

7 3,50,000. Power used 15
onsumed during maintenance ang

for operating the machine is X 9,880 pey
rator devoted one-third of hjg

The machine requires 400 hours per a
of the machine is 156 hours per annum tob
and maintenance for whole working !ife of th _
units per hour at a cost of T 5 per unnlt. No $g:er is C
seting-up time. The cost of a chemicgal requl _
annu?n. Wages of an operator is T 4,000 per month. The ?p?
time to the machine. Aanual insurance chalges 2 percent©

ment is T 2,500 per
at this machine. Oth

the cost of machine.

Light charges for the depart
which only 8 points are used
machine are Z 6,500 per month.

Productive Machine Hours = 2,600 and Machine Hour Rate = T 237.38

e of a machine from the following :

i hine-hour Rat
Calculate the comprehensive Machine 1 lakh after 10 years.

(i) Costof the machine ¥ 25 lakhs, having @ scrap value of X

(i) The machine will be operated for three shifts _r.:f 7 hrs. eac
year of which 300 hrs. will be utilized for repairs and maintenance.

(i) Wages payable : Z 8.000 p.m. for an Ope
shift, ¥ 16,000 p.m. to oné supervisor per s
four machines including the above machine.

(iv) Other details : |
Power consumption : 25 uriis @ T 4.80 per unit

Repairs and Maintenance: Z 30,000 per annum.

General lighting and heating:
four machines.

Insurance . 7 18,000 per machine per annum
Rent Z 3,000 p.m. for the department.

Comprehensive Machine Hour Rate = T 261.50

In a factory department, the cost of a machine is ¥ 11,500. It is expected that it will work
for about 20.000 hours and its scrap value is estimated at ¥ 1,500. The rent of factory
departn'!ent is T 400 per month and 25% of the area of the department is utilised for
conducting the oepration of the machine. One foreman and one attendant are employed
on a salary of ¥ 200 and ¥ 100 per month respectively, to work on two machines of sir:iiar

type. The other expenses of the month are as under in the department

Light charges for the factory department.is ¥ 160 havi ints |
. ent. aving 32 points in all, ou '
points are used for both these machines. Power used for this machinel ; 1t6cg' T:clifrest

labour for both machines < 100; and repair and renewal for this machine is 7 40

You are require dto find out the machine hour rate for one month (four weeks) when it IS

expected to work for 40 hours a week.
Machine Hour Rate =X 3.75

s for a machine from the fu!luwing

month, haivng 48 points in all, out of
er indirect expenses chargeable to the

h for 300 working days in a

rator and ¥ 3,000 p.m. for a helper for every
hift for the department accommodating

7 4000 p.m. for tlhe whole department having

g
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o.1:
(10 Q.
%ﬁ&’- Basic of Ap NMment of Selling Overn
partie’ of sales Number of sgl‘:ﬂ. Total eads (3)
gl entatives (5:2.3:2) smen 56,00.000 orth South East West
gepr®° " | allowances Salesmen : 2333334 933333 140 .
Favelling {1D:B-15-5]x Kms. 333 00,000 933,333
Ee;‘f‘IEnt Cﬂﬁt GI‘JEH EHHTE e 1*95-DDD
ﬂd“”f.m rent Stock valye {{5 554) 500000 420000 40000 75000 30,00
Godo™ . on stocks Stock valug (312 | 350009 20000 125000 125000  1.00,000
U2 o on sales Sales (10 ;é_qtz 1) 70.000 "-gg.nﬂn 50,000 1.00,000 50,000
Ef““.age outward Salesmen x I-(nz 2500,000 10 gU'EGD 10,000 20,000 10,000
car (10.8-15.6) s. 00,000 500000 600000 400000
4,10,00 ;
— Total 56 55 0105128 84103 157692 63,077
- Apporti <3000 3818462 1742436 2477692 1586410
seling overheads as % to sales = ——— loned overheads
ZonalSales 'V 3.82% 148%  413%  3.97%
r 10 <. Hﬂ. 2. P ) ) .
%—jf__ _ —— rimary Distribution Summary
p;rticulﬂfﬁ Basic of Distribution Total .
l = 7 i’“d““hﬂ" D;Dtl's. Service Deptts.
ctory Ren rea sq. mis B C P Q
i 20 10:5:8:5 48000 o0
power Horse Power x Hours 23,000 E-'ggg 1E.DDD 5,000 8,000 5,000
8:8:3:2:2 | - 000 3000 2,000 2,000
i=tionValue of Machine
Derecta 40: 30 P10 85 P OO 40,000 30,000 10000 15,000 5,000
Slore Room i
Expenses No. ;’fg"fq.luas,”'a"_”ﬁ 30,000 5,000 3,000 10,000 8,000 4,000
ndirect Material . ?ggitﬁma;tgrjai: 60,000 10,000 16,000 15000 16,000 4,000
Canteen
Sybsidy I";u. of wuri;ers 25,000 8,000 7.000 5,000 2,000 3,000
' 7:5:2:3
Indirect Labour Direct Labour 90,000 40,000 20,000 20,000 6,000 4,000
20:10:10:3:2
Employer’s Direct Labour 50,000 22,222 11,111 11111 3,334 2,222
Contribution to
ES. 20:10:10:3:2 1,000
Light Light points 18,000 10,000 3,000 2500 1,500 .
100:30:25:15:10
0 15.000 6,000 9,000
Faclory No. of Workers 75,000 24,000 21,00
Si ' 7:5:2:3
e 8T ,05000 50000  80.000 30000 20000 25000
Traceable overheads : -DDD 1.60,000 40.000
Direct Materials zlgﬂr{]ﬂ 0 30,000 20,000
Di ' 24,222
rect Labour 572000 207222 208111 176611 2.17.634 1
<tributi ina
Secondary I:.‘u'.atrll:lutlg_ll____.fl';uf“__.[_""-"r 5 Q|
B A 1,24,222
I A posin | 12861 RILEL
As per Primary Distribution _ — ca587 | 1 2771 | (3.63.914) 90.978
| Expenses of Deptt. P re-distributed 10 90,978 A
Depits. A B,Cand Q (5.3 1? :_EJ_B.E-_—-J-H’"" 43,040 54,560 86.080 | 215200
Eﬁpenses of Deplt. Q re-distribute __2_1._5.#_%_9# et 1
eplis. A B CandP (1:2:3:4 3729720 305738 [ ===
____—_____*_-JP_-“"
e —
s ke
£ i




COST ACCOUNTING
Assume. total overheads of
— Deptt.P = X
i Deptt.Q = %Y
4
Henhce x= 277,834+ -16}*

5
y= 124222+ =X

and 20
4 (4
Now, X= 277,834 + ol

Solving. we get X = 3.63.

Answer to Q. No. 3 :

-4
Jp—
24,222 + 75

Service Departments

.o Departments X Y
Basis of Production Hepaio=—== C
! o —_—
Overheads Apportionment _g.;l::m s500 2880 7320 T 300 100
Power I-(W hrl:urs | 900 600 300
‘4-2:2°1 4,200 - 100 400 200
Rent Area 4 : 43 . 000 900 1 ,ZDD
Canteen No. of workers 3.
-12:3:4:2 300 400 200
9:12: 3" 900 1,200
3,000
Personnel No. of workers '
Dept. 9:12:3:4:2 1 000 300 400 100 133 87
Time Office No. of workers :
Maintenance Capital ‘-’gt“g 2,400
5:6:4:3: 240 180 120
Fire Value of assets 1,200 300 360
Precaution 5:6:4:3:2 150 100
|nr:urané;e Value of assels 1,000 250 300 200
5:6:4:3:2 3000 2 000
iati Value of assets 20,000 5,000 6.000 4,000 : _
E;parlematmn R 38.200 10,250 12,260 6,840 5,623 3,327
Secondary Distribution (Repeated Distribution Method)
Production Departments Service Departments
A B c X Y
3 T T < {
As per Pnmary Distribution 10,250 12,260 6,840 5,523 3,327
Distt, of OHs of Deptt X5:6:5:-:4 1,381 1,657 1,381 -5,623 1,105
Disl. of OHs of Deptt Y4:2:3:1 .- 1,773 886 1,330 443 4 472
Dist. of OHs of Deptt X5:6:5:-:4 111 133 111 -443 g8
Dist. pfOHs of Deptt Y4:2 :3:1 ;- 35 18 26 9 B8
Dist. of OHs of Deptt X5:6:5: . 4 2 3 2 9 ;
Dist.of OHs of Deptt Y 1 1 2
Overheads charged to Production Deptts. 13,553 14 958 9.690

Answer to Q. No. 4 : Overheads of Personnel De
employees and that of Stores Deptt. in the ratio of Dire

Service Department

Department
P A 2
40% 30%

C
15%
25%

pt. are apportioned in the ratio of number of
ct Material cost as follows

Production Department

Service

5%

Q
15%
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//, €peated Distribution Method
Pr i
_— ——“—dkﬁi&__ulilm;_gmﬁ Service Departments
prpens , X 65
prumﬂnment of P'sexpenses6:8:3-.. 3 0.000 6,00,000 500,000 1,20,000 1,00,000
| 3
ﬁppgﬂlﬂﬁmegtsn‘fs . 4?'223 48000 8000 -120000 18,000
Qs eXpENSES = 2 T - 35400 29,500 5900 -1.18,000
apportionmeN Ot .
o's expenses B:8:3:-:3 1770 2,360 885 -5,900 885
orionment of 12390
s expenses B :fﬁ 5:1- 354 266 221 44 -885
EﬂignmEﬂt o
;ipexpengesﬁiﬂiﬁl:-iﬂ 13 17 2 44 -
otionment of
3 2 2 - -7

0's gxpenses (Approx. )8:6:5

gimuitaneous Equation Method

Let X be the total nuerhe:ad of P department :
x=1,20000+.05Y ....() |
gubstituting value of Y in equation no. (i)
x=1,20,000 + 0.05 (1,00,000 + .15 X)

or 9925 X = 1,25,000

gubstituting value of X in equation no. (ii)

7.35340 686,045 548615 -

Let Y be the total overhead of Q department
Y =1,00,000 +.15 X ... (ii)

Or X =1,20,000 + 5,000 +.0075 X
1,25,000

9925

OrXs=

=,125,945

v=100,000 +.15 (1,25,945) = -1,00,000 + 18.892 = 1,18,892

apportionment of Overheads of Service Departments

Production Departments

Service Departments

AT BX cX PR Qx
Departmental expenses (Given) 6,50,000 6,00,000 5,00,000 1,20,000 1,00,000
Apportionment of overheads of P 37,783 50,378 18,892 -1,25.,945 18,982
Deptt. 6:8:3:-:3 5 ans
Apportionment of overheads of Q 47,557 35,667 29,723 5,045 -1,18,
Deptt. 8:6:5:1: -
o ’ 7.35,340 6,686,045 548615 - -

Answer to Q. No. 5: Computation of apportionm

Centres under :
(a) Continuous Distribution Method

ent of Service Centres Overhead to Production

b Simultaneous equation Method

L. (1)
. (2)

0.10x)

* = 20,000 + 5% Y
Y = 10.000 + 10% X 1
By substituting equation (2) in equation (D}+
X = 20,000 + 0.05 (10.00
= 20,000 + 500 + 0.005X
\""--_

B _ﬂ—
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X- 0.005x = 20,500
0995x = 20,500
X = 20,500/0.995 = 20,600
y = 10,000 + (0.10 x 20,600) = 12,060
Distribution Overheads of Service Centres to Production Centres —
! Production Centres |
Particulars A B [ C
—
l — 0000 | 40,000 | 20,000
As per Primary Distribution 4 120 6.180 8,240
Share of x (2 20,600 distributed in the ratio of 20%, 30% ane 402?} 2'412 | 3015 6,030
Share of y (T 12,060 distributed in the ratio of 20%, 25%, and 50%) : ’ | ;
$1sltrlib$|tim:1n:f ;esidual amount 86,533 | 49.196 I 34,271
otal Overheads -

Answer to Q. No. b6 :

Determination of Total Cost of Product

(<)
y 250.
Direct Material 150 gg
Direct Labour ! 4;_19‘%
Prime cost _ 30.00 :
Overheads Deptt. A (4 hrs. x T 7.50) e oe |
Deptt. B (5 hrs. x T 11.25) 45-0{} 1
Deptt. C (3 hrs. *x ¥ 15.00) 49.UV ,5_2:11_2_5_
Total Cost of Product _ 25

Statement showing computation of overhead rate of production departments using the
repeated distribution method

LS
Particulars of Expenses Basic of Total Production Deptts. Service Deptts.
Apportionment ]
A B | C X X
Direct Wages Direcl 10,000 - - -1 7500] 2500
Rent and Rales Floor Space 25,000 5,000 6,250 | 7.500 5000 1.250
General Lighling Lighting Points 3,000 000 750 I 1,000 | 600 250
Indirect Wages Direct Wages 7,500 2,250 1,500 2,250 1,125 | 375
Power H.P. 7.500 3,000 1,500 2,500 500 -
Deprecialion Value of Asset 50,000 12,000 16,000 20,000 1,000 1,000
Sundries Direct Wages | 50000] 15,000 | 10,000 15,000 7,500 2,500
Total 1.53.000 | 37.750 | 36,000 | 48,250 | 23.125| 7875
Redistnbution of  Service
Depits.
Overheads to Produclion 4 625 6.937 9.250 | (23,125) 2313
Deplts. I '
My ' 4075 | 2038 | 3086 | 1019 (10188
Y 4231 204 306 407 | (1,019) 102
| 41 | 20 | 31 101 (102)
Tolal Overheads of 3 I—-—i-——w———‘:‘
Production Departments (i) 49,304 | 60,999 - }
Production hours (ii) - —-‘l——-—‘
Overhead rate of Produclion :",'DEE 4,066
Departments (i)/(ii) [ .25 15.00
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_&[,'I_E.'!“—er to Q. No. 7 : Determinatio
Let the total cost of service deptt. S, be 'y’
Let the total cost of service deptt, S
x =3 1.20.000 + 40% of y
y = ¥ 2.60.000 + 50% of X
x =1.20.000 +0.40y .. (q
y =2,60.000 +0.50 x ... (2)
x =1,20,000 + 0.40 (2,60.000 + 0.50x)
x = 1,20,000 + 1,04,000 + 0 204
.0.20x = 2,24,000
0.80x = 2,24,000
x = 2,24,000/0.80 = 2 80.000

y = 2,60,000 +(0.50 x X 2,80,000) = % 4,00 000

Secondary Distribution Summary
Basis

» be y'

— Particulars

EE

Spinning

Weavi r-l_g-_ |

As per Primary Distribution

Expenses of Dgpt{. S, t0 be
absorbed by Spinning, Weaving

2,00,000

Sy

S2

3,00,000

1,20,000

2,60,000

302050

84,000

56,000

(2,80,000)

1.40,000

and S .
m%ses of Deptt. S, to be

absorbed by Spinning, Weaving
_gf.d Sy

25:35:40 | 1,00000 | 1,40,000 | 160,000 | (4,00,000)

“F

384000 | 496000

e

answer to Q. No. B:

(a) Departrnental Overheads Rates are calculated on the basis of direct labour hours as under :
Overheads of the Department

- r Rates for Departments = ,
Direct Labour Hou P Direct Labour Hours in the Department

2,30.000 5,46,000
80,000 1,15,000 1,05,000

Plant-wide overhead rate is based on total factory overheads and tolal direct labour hours for plant as
awhole. i.e., for all the three departments together :

1,24,000 =3 5.20.

=200 forZ =

For X = =T 1.55;forY =

_ Aggregate Overheads _ 9,00,000 _ ‘3
* Aggregate Direct Labour Hours 3,00,000
(b) Cost of “Krish” Line Using Departmental Rates . - e ewtat
X 20,000 units
Cost of Departments =
1.19,
e 45,000 10.500 59,500
Prime Cost ' 1,81,500
ﬁl?g Dg;ﬂtu?1%userheads 15.500 o0
' X . ;
5,000 x %2 ;i’gggg 2,96 500
30,000 x ¥ 5.20 60,500 20,500 2=
Factory Cost — -
— : .wide Rale
Computation of Cost of “Krish” Line using Plant wid 115,000

Prime Cost (Total)

Add : Facto rheads : XT3 1,35,000
y ry ove 0000 nrsi.E--45-ﬂm hrs 50,00
10,000 hrs + Y 5,000 hrs + Z 30,

FM“W Cost
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are T 1,81 500. With pian:.
(c) In case departmental rates are used total absorbed factory “’E.E?Eii of overheads by 45.5310
wide rate. absorbed over heads are 7 1.35,000. Thus, under ars

results due to the use of plant-wide rate.

Answer to Q. No. 9 :

Total hours in 13 weeks (13 x 48) = B24 hours
(-) Unproductive time (Maintenance) (13x2) =028 hours
598 hours

Productive hours
[Setuptime =13x2= 26 hours, Working time = 572 hours)

(a) Computation of Machine Hour Rate

Quarterly Fixed Charges Per Quarter
Rent, rates and laxes ¥ 5,000
Supervision 1,500 x 3 x 1/3 1,500
Operator's wages 1,950

8,450

Total fixed charges per quarter
Effective hours (48 =2) x 13 = 598 a13
Fixed costs per hour 8,450 + 598 ‘

Quarterly Variable Costs 4 %

Power : 2 units / hr.x ¥3/unit x 572 hrs. 3,432 5.74

Repairs and maintenance 4,000 6.69

Consumable stores 7,500 1.2-54

Depreciation : 12x1,80.000 5.400 §.03

100 x 4

Total Variable Cost 20,322 34.00
Total cost and Machine hour rate 28,772 48.1
Depreciation has been considered as variable cost.

(b) Quotation for Outside Parties

Variable cost per hour 34.00

Add : 20% profit 6.80

Minimum rate to be quoted for machine use X 40.80 per hour

Note : No additional fixed cost will be incurred for utilising the idle capacity.
Answer to Q. No. 10 : 4
Factory overheads actually incurred 4 46.380
Less : Overheads recovered from production (2,93,104 hrs x ¥ 1.25) 3 66 380
Unabsorbed overheads 2 80,000

Reasons for under absorption :

(i) Under absorption due to increase in ¢ indi . _
240,000 ost of indirect material and indirect labour = 50% of Z 80,000

(i) Under absorption due to factory inefficiency = 50% of ¥ 80,000 = ¥ 40 000
Treatment of unabsorbed overheads in Cost Accounts |

(i) Under absorption of ¥ 40,000 due to incr |
. ease in cost of indi : .
be charged to total output by using supplementary 2;{ indirect material and indirect labour should
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plemEﬂtﬂlT rate = U”ahEDrhEd UVErh
eads
Total v o ——————
otal Outpyt = —___Y40,000

Unabanrbed overheads sh 7.800 uni _ |
o of number of units as i'-:a :e charged to cosy units + 200 unis. T > Per unit

Sup

rati
f Sales A/ - - Aini
cost of Sales A/C (7,000 units x 7 5) Ished goods and work-in-progress in the
Finished Goods Stock Alc (800 uni D
nits x g 5 . % 35000

Work-in-Progress at the e
nd A/c (200 units x 25 Dr Br. I 4,000

Du
¥
¥

salue of closing stock of Fin d
f elc oci ished G ;. ce prof i
oods by % 41%“133”3 ft:r the period by ¥ 35,000. Increase in th
30.000. 000. The net eﬁ: t""'“"""'in'ﬂrngress by T 1,000, both hein;
ct, therefore, will be reduction in profit by T

(ii) Unabsorbed overheads of ¥
40,000
and theref >0 900 due | [
ore, should be debited to Custirt'\ugis::::-cf:?&l Tfﬁmenw may be regarded as aonormal [oss
0s8s Alc,

Number of machines
Effective hours per machine (42 — 5) per week 15
Number of actual working weeks in the year 37
Effective hours per year for 15 machines 15 x 37 x 50 50
Estimated annual overheads 27,750
Overheads rate per machine hour 5,55,000 + 27,750 = D40

* S S T 20
(b) Computation of the Amount of Under/Over Absorption
(i) Overheads absorbed = (Hours operated x Ov

erhead rate ) = 2,400 x 20
Overheads incurred ! v A
T 49,000
Under absorption = 49,000 - T 48,000 T 1,000
(i) Wages absorbed = (Hours operated x Labour rate ) = 2,400 % 3 T 7,200
Wages paid T 17500
Wages under absorbed =% 7,500 - 37,200 T 300
Answer to Q. No. 12 :
Budgeted Overheads _ 7,00,000 _ 2 14 per unt

(i) Overhead AbsO tion Rate =
L Budgeted Output 50,000
0,000 x 14 = ¥ 8,40,000

verhead Absorption Rate = 6
00,000=X 40,000

heads = Actual output x O
5| Overheads = 8.40,000-8,

orbed Overheads - Actu
QOver Absorption _ 40,000 _ Q6. 2  Re 0667

Absorbed over
(i) Over absorption = Abs

(iii) Supplementary Rate (Negative) =~ o) Output 60,000 3
(iv) Accounting Entry - 00
40,0
Overhead Control A/c e 32,000
To Cost of Sales A/C (48,000 * 0.667) - —

i

e
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2,667

To Work-in-Progress A/c (10,000 x (40 + 100) 0.667) 5.333

To Finished Stock A/c (8,000 x 0.667)

(Adjustment for over absorption)

d distribution of Production Depariments

Answ .No. 13 : (a) Statement showing overhea @
ion depts. | Service Depts.
Total | Production
Particulars Basis of
AppurﬂuﬂmEﬂt p Q S, §L
: 15,000 2,000
50,000' [ 25.000
s Assct ro00| 4000\ 20| 1%00| oo
Canteen expenses No. of workers 5,400 E:gg 6:546 1,636 1,636
Rent, Rats & Taxes Floor Space 18,000 ' 2 500 2.000 500
anér H.P. of Machines 13333 ?ggg 'BDD 400 400
Eleﬁricity Light, Fan Paints 1 33.400 ?0:532 37846 | 21.436 8 536
ota G

Secondary Distribution of
Service Depts. Overhead
to Production Depts. P &
O:
S, : T 6,000 to S; and
balance T 15346 to P &
Q in the ratio 3 : 2

S, T1I9: 1 13,082 1,454 - | (14,536)

92,926 | 45474

9262 | 6,174 (21,436) 6,000

Answer to Q. No. 14 : Overhead Distribution Statement
Particulars Basis Production Departments | Service Departments
A B C X Y
Direct Material - - - 22,000 22,500
Direct Wages - - - 15,000 30,000
Power Kwh. 400 300 200 100 100
Lighting No. of Points 50 80 20 30 20
Stores Direct Materials 100 200 200 150 150
Welfare to Staff No. of staff 600 900 900 300 300
Deer:-ciatiun Value of Asset 12,000 | 8,000 | 6,000 2,000 2,000
Repairs Value of Asset 2400 ( 1,600 1,200 400 400
Rent & Taxes Floor Area 150 250 50 50 50
General overhead Direct Wages 2,000 | 3,000| 4,000 1,000 2,000
Total 17,700 | 14,3 ' |
Service Dept., overhead: 9301 12,570 “1.590 57,520
*X" Dept. 5:3:2 Wages
y i g 20,515 | 12,309 | 8,206 | (-41,030)
Y" Dept. 30:45:60 12,782 | 19,173 | 25 565 (57 520)
50,997 | 45,812 | 46 341 Z _

Departmental overhead rate based on wages

= Qverhead
x 100
Direct Wages
Dept A 50,997
= =e——x100 = 169.99¢°
30,000 9%
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peb 45,000 = 101.8%
46341
t G = - %10 -
Def 80000 Y =TT24%

Answer . No. 15 : I. Primary Distribution
Etatﬂ'ﬂ"E“t showing overhead rate

of Prod
d uction
"ff—-}—— Departments (using repeated distribution
P,.-ﬁr:ulﬂrs Basis of Total i
Apportionment Production Depts. Service Depls.
..--"'-__ 5
Direct wages Direct 10,000 & . P, Py Sy S; |
rent & Rates Floor Space 25 000 - - -| 7.500| 2,500
aneral Lighting Lighting Pont i 5000 | 6250 | 7,500| 5,000 1250
Indirect Wages Direct wages TFEDU 2 22-?1 ol W o -
- \ 1.500 2,250 1125 375
[ H.P. ' '
Powe ation Val : 7.500 | 3,000 1500 2,500 500 =
Deprec alue of Assets 50,000 | 12,000 | 16,000 | 20,000 | 1,000 | 1,000
gundries Direct wages 50.000 | 15.000 | 10,000 | 15,000 | 7,500 | 2,500
Total 1,53,000 | 37,750 | 36,000 | 48,250 23,125 7.875

I. Secondary Distribution

(%)
Particulars Production Departments | Service De artments |
- P‘I P! E;! Sf SL
As per primary distribution 37.750 | 36,000 | 48,250 23,125 7,875
Re-distribution of Service Dept. overhead
to Production Departments 4625 | 6937 9250 (23,125) 2,313
S, -2:3:4:-1 4075 | 2038| 3.086| 1019 (10,188)
S, - 42:31- 204 306 407 (1,019) 102
41 20 31 10 (102)
yi 3 5 (10) -
Total overhead of Production (i) 46,697 45*32'; Gi'gugi — -
Production hours @m ﬁfiﬁn '2"1 2e | 15.00 | |
Overhead Rate of Production Depts. (i)/ (i) - ' ‘
Determination of Total Cost of Product (9
250.00 |
Direct Material 150.00
Direct Labour 400.00
Prime Cost ; 30.00
Add - Overheads Dept. Py (4 NS x 3 7.9) 56.25
Dept.P; (5 hrs- 211.29) 45.00
Dept. Ps (3 hrs: x 215.00) 131.25
531.25
_Total cost of product /
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Answer to Q. No. 16 ;

Overhead DI_strlI_:u__tln

e

n Statement

Depis )

Particulars Basis Total ___#Emﬂycriag Depts. -1 -S—QWL;(EEQ_EM,__H
D 895 - - - | 1.500 “‘EE-
irect wages - : -
Rent Floor Space 5.000| 1,000 1 .253 1*223 1 -?gg 25(
Lighting Light Points 600 100 120 =00 100 50
Power Horse Power 1,500 600 s 800 . 3-.
Indirect wages Direct Wages 1,939 600 P >0 : 9
Depreciation Machine 10,000 2,400 | 3,200 ' 00
Value
Sundries Wages 9,695 | 3,000 | 2,000 3.000 1.500 195
30429 | 7,700 7,300 [ 9,800 | 4.700 929
Secondary
Distribution
ServicOe Dept. X | 2:3:4:1 940 | 1,410 |  1.880 | (-4.700) 4780
Service Dept. Y | 4:2:3:1 560 [ 280 420 139 | (-1,399)
Service Dept. X 2:3:4:1 28 42 55 (139) 14
Service Dept. Y | 4:2:3:1 6 3 o = (14)
Total overhead (i) 9,234 | 9,035 12,160 - -
Working hours  (ii) 3070 | 4475 | 2419 - Z
OH. Hour Rate(i)/(ii) T3 X2 X 5.03 - -

Answer to Q. No. 17 : (a) Statement showing Machine Hour Rate for each machine

Particulars Basis of Total [ ] ] v
Apportionment
Rant & Taxes Area occupied 600 200 180 120 | 100
Lighting Lighting Point 140 50 40 30 20
Depreciation Cost of Machinery 2,800 1,000 800 600 | 400
Repairs & Maintenance ) 700 250 200 150 100
Power H.P. 375 125 100 80 70
Indirect wages Direct wages 5,040 1,800 | 1440 | 1,200 | 600
Consumable Stores Consumable Stores 305 100 80 75 o0
Canteen expenses No. of workers 100 40 30 16 14
General expenses Direct wages 420 150 120 100 50
;;ntal overhead (i) 10480 | 3,71512990 | 2,371 1.404
nrk!ng Rours ‘(u)" 200 200 200 200
Machine hour Rate (i)/(ii) 18.575 | 14.95 | 11.855 | 7.02
b) Cost of Production for one unit of Production
Direct Material
Direct Labour 10.99
Prime Cost 20.00
Add: Overheads 30.00
Machine | X 18.575 x 1hr.
Machine II % 14.95 X 2 s, g
Machine Il T 11.855 x 3 hrs, 2990
Machine IV R 7.02 x 4 hrs. 39.565
28.08
Total Cost of Production 11242
142.12_

-———-z-——._______________—_
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—_— mPUlﬂtlun of Ma h
Pﬂfﬂcumm Bac; Chine Hour rate for each Centre
ppumﬂﬂmem Totaj Production Centre
‘___..---""_'_-_ . o —]
f Service exp. ——
ghare © Actua| ] [ I i
power | HP 5,000 | 1,000 | 1.500| 2.500
repair & Mainienance Value of Machinery 10.000 | 2,500 | 2,500 | 5,000
rance 13,
- el ] e R e
‘ oor ArEa ! J '
Ligﬁtmgwa . Floor Areg ?-223 500 [ 1,000 [ 1,500
IndlremWel?are Exp e wages 14'400 4 232 4 223 5 222
o tion | No- of Workers 20,000 6,000 | 5000 | 9,000
Depreciatio 10% - . . .
,_Manhine?:r value  of | 32,500 | 10,000 | 7500 | 15.000
Tolal overhead (i)
_ - 1,03,600 | 30,000 | 26,500 | 47,100
Machine Hours (i) _
hine Hour Rate N 5,000 | 6,000 | 10,000
Mac 1)/ Gi) 6.00| 442| 471
(i) Quotation Price for Job No.201
. (9
Direct Material 500.00
Direct Wages 300.00
Prime Cost 800.00
Production Overhead
Centre | X 6 x 4 hrs.) 24.00
Centrell (X 4.42 x 3 hrs.) 13.26
Centrelll (X 4.71 x8hrs.) 37.68 E‘;j.i:
Works Cost 17 4' 99
o st .
Other Expenses (20% of Works Cost) 1.049.93
Total Cost 262.48
Profit (1/4 of 1,049.93) 1.312.41
Total
Answer to Q. No. 19 : Working Notes: - annum:
Computation of Machine hours used g;ﬂ )
Total power consumed =3 ;l‘lﬂ P-4
Power consumption rate per unit = : 4'3 00 = 48,000 units
No. of units produced by the shop = 32.===
30.10 - 12,000 units

Hence, for one machine

er
Each machine consume 10 units of power P

For 10 units — 1 hour
For 12,000 units — 7
12.000 units x 1 houl

10 units
Thus each machine runs fo

= 48,000 units

machines
4 hour, as such.

= 1.200 hours
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Computation of Machine hour Rate. per annum | _ Per 11}___.','__;"__

Particulars —

Standing Charges | 1,500
Rent & Rates (Rs,6,000 / 4 machines) 200

iahti  800/4 machines) _ 360
]:tg:er::gnts ® 60 x 2 x 12 months)/ “ mes s 1,800
Supervisors Salary (Z 600 x 12 months) / 4 machines g 880
Total standing charges 3.22
Standing charges per hour (¥ 3,860/ 1200 hrs.)

Machines expenses 0.50
Depreciation (Z 600/1200 hrs.? . 0.21
ReDairs (¥ 1,000/4 machines)/ 120 . 1.00
puier % 4,800/4 machines) /1200 hrs. 0.02
Lubricants @ 100/4 machines) 1200 hrs. 4.95

Machine hour rate o

. te
: computation of Machine hour ra _
Answer to Q. No. 20: P Per annum & Per hour ?

Particulars

Standing charges 1 156
Rent of the department (?Bu X EJ

5
Lighting (230 x E) %
Insurance etc. 36
Cotton waste, oil etc. 60
1
Foreman Salary [S.UG'D X Z] 1,500
For 1,800 Hrs. 1,800 1.00
Variable expenses
Depreciation = Cost— Scrap
Working life of a machine
= 9,200-200 0.50
18,000
Repairs and maintenance = 1,125 0.06
18,000
Power (5 units x 0.06) 0.30
Machine hour rate 186
w Computation of Machine Hour Rate
Fixed expenses (9
Indirect wages of operators
: ’ 20,000
Overheads ol
Depreciation (1,00,000-5.000) 10,
10 9,500
1
Fixed expenses per hour (39,841 + 1997) Total 3?95‘; :
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wdnble expenses

Repairs and maintenance

glectricity (10 units @ 50 paise)
Machine hour rate

—

3.00
5.00
27.95 |

wgﬂ_ﬂ_n of productive hours

—

__..--"-'-__
Hours per year (48 x 52)

| gss:15% maintenance time

L ess: 5% for setting up time

Effective time
"

(Hours) |
2,496
374

125

’/Jg_q_g_gngwar . No. 22 : Computation of Machine Hour Rat
ate

1,997 |

e

particulars

Per hour (3

| =

standing Charges

(i) Rent for workshop (25,000 + 4)
(ii) General lighting for the workshop (160 x 12/4)
(iii) Administrative expenses
(iv) Workshop supervisor's salary (3,000 x 12/3)

Total standing charges
standing Charges per hour
Machine expenses
(i) Depreciation (44,000-4,000)
10 x 2,000
(i) Repairs & Maintenance (75% of Depreciation)
(20 x 20 x 1800)

100 x 2,000

(iii) Power”

Per annum (<)

6,250
480
4,000
12,000

22,730

11.37

2.00

1.50
3.60

Machine Hour Rate

18.47 |

*Presumed that the machine does

Answer to Q. NoO. 23:C

() Direct Material cost percentage
Amount of Factory Overheads

omputation of factory overhea

x 100

Direct Material cost

1,26,000
- x 100 = ?D%

1,80,000
Amount of Overheads chargeable 10

= 70% of Z 30,000 =% 21,000

the order

not take the current during set-

up time.

d chargeable to the order
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(ii) Direct Labour cost percentage

Amount of Factory Overheads

Direct Labour Cost

1,26,000
= x 100

1,50,000

8.46

x 100

= 84%

Amount of Overheads chargeable to the order

= 84% of T 24,750 =¥ 20,790

(iii) Labour Hour Rate

Amount of Factory Overheads

No. of Labour Hours
1,26,000

- =T 10.50 per hour

12,000

Amount of Overheads chargeable to the order =

(iv) Machine Hour Rate

Amount of Factory Overheads

No. of Machine Hours

1,26,000

= =¥ 12.60 per hour

10,000

1650 Labour hours * 7 10.50 =T 17,325

Amount of Overheads chargeable to the order = 1200 Machine hours * 312.60=¥15,120

Answer to Q. Mo. 24:

Budgeted fixed overhead absorption rate

Budgeted fixed overhead
Budgeted direct labour hours

T 37,400

= Re.0.55 per labour hour
68,000 hours

Budgeted variable overhead absorption rate 3 64,600

Absorbed fixed overheads

Unabsorbed fixed overheads =

Absorbed variable overheads

Unabsorbed variable overheads

Total under absorplion

= Re.0.95 per labour hour
68.000 hours

Actual direct labour hours x Fixed overhead rate = 65,000
x 0.55=% 37,50

Actual fixed overheads - Absorbed fixed overheads
=3 38,700-T 35,750 = T 2950 (under absorbed)

Actual direct labour hours x Variabl ate =
65,000 x 0,95 = 2 61 750 e overhead r

Actual variable overhea
<65,800-%61.70

< 4,050 (under absorbed)
12,850 +3 4,050 =% 7.000 (under absorbed).

d — Absorbed variable overhead =
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bw-ﬂﬂn-ﬁi

m Wﬂw&d Ab Iﬂlpﬁm Raie = B
_udgmd fixed overhead

7.00,000

(i)

i) Supplementary Rate (Negative) _OverAbsorption 40,000

-

= ¥ 14 per unit

) accounting Entry : Actual Output ) 60,000 - Re. ; ¥ 0.667.
overnead Control A/c
To Cost of Sales A/c (48,000 x 0.667) Dr. 40,000
To Work-in-Progress A/c (10,000 x (40 + 100) x 0,657 32,000
To Finished Stock A/c (8,000 x 0.667) 867) 2,667
5,333

{Aqusmmnt for over absorption)

« The 'base’ may be units of o i '
utput, direct material cost, direct labour, labour hours, machine hours of

any other pbase adopted for overhead recovery.

rto Q. No. 26:

Answer 10 Q. Y0 .26: ___ CALCULATION OF COMPREHENSIVE MACHINE HOUR RATE

<——=ing cha = (for Machine B)

M’% 6% : annum: Bass v
Depreciation (-—1?-) Actual 5,000
Rent, Heating & Lighting 90.000 _ 4 500 om 3,375

| 80,000
1,50,000 No. of Machines 6,000
Supervision
25
Reserve Equipment Actual 5,000
19,375
19,375
ding charges per hour = = =484
Standing charges P 4,000
Two-tier Rate. 1
Set up cost per Operation cost
machine £ _per machine
4.84 4 84
Standing charges - 0.50
Power B 4 B4 5.34
Machine Hour Rate 2 00 150
Labour i 7.84 6.84
Comorehensive Machine Hour Rate __--;s
: dto |0
Statement showing machine qggmﬁi‘ﬂgﬂﬂﬂ?———i—-ﬁ,,_ <op 1102 7| Hrs.| Job 1308 €
J-J("EL’IB"“ 80 g2720 | 40 313.60
7.84 8920 | 160 1,094.40
Set up 84 130 L
0 o 151640 1.408.00
peration Total |__— :
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Answer to Q. No. 27
tiy Direct Labour-Hour Rate Method:

Direct Labour Hour Rate

Overheads chargeable to the department

) Labour hours worked

48,000 _

" 24000

(i) Direct Labour Cost Rate Method:
Percentage of Direct Labour Cosl

Overheads for the department % 100
) Direct wages

T2

48,000 x 100 = 80%
60,000

(i) Machine-Hour Rate Method:
Machine Hour Rate
Overheads for the department
i Hours of machine operation

= =T 2.40
20,000
~OMPARATIVE STATEMENT OF COST OF ORDER
; Direct Labour Direct Labour Machine
ERITICIESES Hour Rate CostRate | Hour Rate
() ¥ (i) T (li) €
Materials used 4,000 4,000 4,000
Direct Wages 3,300 3,300 3,300
Prime Cost 7,300 7,300 - 7,300
Factory Overheads: |
(i) @T 2 per hr. for 1,650 labour hrs. 3,300
(i) @ 80% of T 3,300 Direct labour cost 2.640
(iii) @ T 2.40 for 1,200 Machine hours 2,880
Works Cost 10,600 9,940 10,180
Answer to Q. No. 28.
L4
Actual overheads 4,26,544
Less: Overhead recovered 3 65904
Overhead under-absorbed '502604
() Write off to profit and loss account :
Accounting treatment
To Overh
eads Alc. 60.640

The profit will reduce by % 60,640.

Pl g
[ 'l*—rj-l"'.- L
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g cost of Sales A/c, rone
Finsihed Goods Stock Ajc. Dr. 42,029
Work-in-Progress Stock Alc. Dr. 11,537
To Overheads A/c. Dr. 7,074
60,640
gupplementary Rate = [ 60,640
8.40,588 + 230,732 + 1,41*48[])
= 0.05 per rupee
profit Implication

Adjustment in
1. Cost of sales

2. Finished Goods 2 30,732 x 0.05 = 11,537

Adjusted Amount

Increase by
3. WIP Stock 141480+ 0.05 = 7,074 Increase by
Decrease by
Ans. to Q.29. Productive Machine Hours
TOtﬂ‘ hours ina year = 3.000 hrs.
(-) Un-productive time
Repairs & Maintenance = 400 hrs.
Productive Time = 2 600 hrs.
Productive Time IS aggregate of -
(1) Set-up tin\;f - = ; 1354 I:.E
lance Working lime = 2,444 _
() Ba2 qfntal = 2,600 hrs.
Computation of Machine Hour Rate
Particulars Total
(A) Standing Charges
.. (25,00,000 - 1.00.000] 2 40,000
1) Depreciation 10years
0) 50,000
2) Insurance (2% of 25,00,00 "
3) Other Indirect Charges (6,500 x 12) ig'ggn
4) \Nages (4,000 x 12 X 1/3) ' 000
5) Lighting (2,500 X 12X 8/48) 389,000
Total Standing Charges s
(B) Machine Runningd Expenses 35 000
1. Repairs (3,50,000/1 0) 9 880
2. Chemical 1,83,300
3. Power Cost |
(15 units/hr. X Z 5/unit) X 2-44"; nrs:
Machine Hour Rate
hrs.
Ans. to Q. 30. — 6,300
Total hours In 3@ -
Renairs & Maintenanc® . o, 6,000 T
(') ep Pmductwe MBCh‘nE ‘
—
——

Profit Impact
8,40,588 x 0.05 = 42,029 Decrease by

< 42,029
< 11,537
R _7.074
23418
Per Machine Hr.
3,89,000/2,600
= 149.62
13.46
3.80
70.50
237.38

——
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Computation of Machine Hour Rate
Particulars Total
Standing Charges
Repairs & Maintenance ?gggg
General Lighting (4,000 x 12/4) o=
insurance 191000
Rent (3,000 x 12/4) '
- 0
Depreciation [EE'DD'UDiDl*UD'DU ] 2,40,000
Wages to Helper (3,000 x 12 x 3) 1,08,000
2x3 |
Wages to Supervisor [15":'””: 12X ] 1.44,000
Total Standing Charges 5.61.000

Machine Running Expenses
1. Power 25 units/hr. x T 4.8/unit
Simple Machine Hour Rate
(+) Direct Wages (Operator) per Machine Hour
(8,000 x 12 x 3/6,000 hrs.)
Comprehensive Machine Hr. Rate

Ans. to Q. 31.
Total Machine Hours = 40 hrs./week x 4 weeks
= 160 hrs.
Computation of Machine Hour
Particulars Total
Standing Charges
1. Rent (T 400 x 25/100) 100
. " ad g 1
2. h — X =
Lighting (X 160 x 32:-:2] 20
3. Indirect Labour (% 100 x %} 50
4. Salary to Foreman (T 200 x % ) 100
5. Salary to Attendant (Z 100 x % ) 50
Total Standing Charges 320
Machine Running Expenses
1. Repairs and Renewals 40
3. Depreciation ( 11,500-1,500
g 20,000hrs, < 100Nrs. 80

Machine Hour Rate

Per Machine i

5.61,000/6,000 = 93,50

120.00
213.50

48.00
26150

Per Machine Hour

320/160
=X2

0.25
1.00
0.0
3.719
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company budgeted to produce

ot A
ot uction is 105 uni . 100 uni .
([ Pm‘d units by using 1 nits of output using 1,000 kgs. of input. Actual

ctual Output; and 200 kgs. of i
A (2) Expected Output m“ic?.fa'ﬂﬁ:htcﬁ?’u" e (1) Btondord GUATSH T
. - - nput loss. (4) Output loss.
As per budget, in order to prod
9,5 , uc ~
is pudgeted to be PurchaE%Tﬁhip?b%n;:aéﬁig-?iFf'-!b.l!:_ feet of timber is to be used which
- eet. Actually 16 chajrs are produced using

250 cubic feet of timber purchased at: 94
e ] ha
¢ ____t 9 | per_cubic feet. Compute Direct Material Cost

{ariance.
a3 _. Actual
Price per kg. 214 a Standard
Quantity 5 T15
00 kgs. 600 kgs.

compute Direct Material Cost Variance

n Q.3, if standar
ad. | d (budgeted) output is 100 units and actual output is 110 units, calculate

D.M.C.V.
mpute (1) D.M.C.V.; -
\9,5_./ g?a ng:f; Ldtpu:ﬂ C.V.. (2)D.MP.V.; (3) D.M.U.\Ji érnm the following :
standard Material per unit 3 E ok
gtandard Price per kg. 4 zgs. -
Actual Output 80 units
Actual Price per kg. 225
Actual Material used 25'.:1 kgs.

the following particulars, compute : (a) Material cost variance: (b) Material price

Q.6 From
variance; and (C) Material usage varnance :
Quantity of materials purchased 3,000 units
Value of materials purchased ¥ 9,000

Standard quantity of materials required

per ton of output 30 units
Standard Rate of materials Z 2.50 per unit

Opening Stock of materials Nil
Closing Stock of materials 500 units

Output during the period 80 tons

9,7./ Compute (a) Material Cost Variance; (b)
variance, from the following data :

Material Price Variance, (c) Material Usage

Standard : _
Material for 70 units of finished prodgets 100 kgs.
Price of material Z 1 per kg.
Antug u:tput _ 2 10,000 units
kas.
Material used %Bg_? g?zu gnng
Cost of material '1
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entis :
\9'( For making 10 units of a product, the standard material requirem
Material Qty.(kgs.) Rate per kg- (%)
A 8 i
y ) ced. The actual

During December, 2012, 1.000 units of actual output was produ

composition of material is as under . units 0 1<y
kat Rate per 0
Qty. (wnits] K9 ,

Material
A 750
B 500 S

Compute (1) D.M.C.V.; (2) DMP.V.; (3) D-M.U.V.

Q8. The following information is given (o you .
i Budgeted price ; Chemical ‘A’ T 2 per kg.
Chemical ‘B’ T 10 per kg.

‘A’ 75% and ‘B’ 25%

Budgeted Mix .

Budgeted Yield 90%

Actual used Chemical ‘A’ 2,200 kgs. for ¥ 4,620
Chemical ‘B’ 800 kgs. for T 7,800

Output 2.850 kgs.

Calculate DMCV, DMPV and DMUV.

yﬁ Compute Revised Standard Quantity
Material Standard Actual Standard Price

A 60 units 90 units 5
B 40 units 40 units <6

Also calculate Material Mix Variance

\/Df‘{ﬁ company budgets to use 60 kgs. of X and 40 kgs. of Y. The standard loss of .
i - ‘ ' - rodu
is 30%. The standard price of X is T 5 per kg. and of Y is ¥ 10 per kg. S

Actual Mix - X-80kgs. @ T 4.5 per kg.
Y~-70kgs. @ 8 per kg.

Actual Yield 115 kgs.

Calculate all Material Variances.

Q.12. The standard input to produce one unit of product is as follows

N Material A 60kg @ T15
| perkg. = T 900
Material B S0kg @ T20perkg. = 71600
Material C 100kg @ ¥25perkg. = 2 Z..m
240 kg. 5,000

Material A 640kg. @ T 17.50 per K9. = ¥11.200

Malerial B 950kg. @ T1
Material C 870kg. @ ¥27.50 perkg. = : 2?.100
2400 g T

Calculate : (a) Material Cost Variance
(C) Material Usage Variance
(e) Material Yield Variance.

(h] Mﬂt&l’iﬂl F"I'ice yaﬁanm
(d) Material Mix Variance
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d Matori @ bateh of 507 ynite of out
- . Input Stdu :;u_t of a factory is as under :
A kgs - Pricelkg.
B 250
c % 4%
D 10 2.00
Total S0
In October, the fa 600 1.00
consisting of s‘tarlttiarrciF Ined a prog

~ uction of 9,750 uni .
inpu ) /50 units
in the actual prices ing Put of materig| " of output for which 20 batches

icated against EECE"_E Issued to the shop floor in the following ratio
Material . '
Ratio of Material issued Actual price

A % Per kg.
B 60 5.00
o 20 2.50
- 10 2.25

10 0.75

Calculate all material variances.

_‘ 9_44_ An?mgzly1rggnélfactu rgd a p;ﬂduct by mixing three raw materials. In a batch, for output of
v 100 units, gs. of input is used. In July, 2013, 60 batches of 125 kgs. each were
processed to produce an output of 5600 units. The following are the records for July,

2013.
BUDGETED ACTUAL
Material Mix Price/Kg. Mix Price/Kkg.  Raw Material Purchased
% d % ¢ (Kgs.)
A 50 20 60 21 5,000
B 30 10 20 8 2,000
C 20 5 20 5 1,200

Compute all Material Variances. Also calculate Material Price Variance at the time of
purchase of raw material.

Q.48~ A company produced an article by blending two basic raw materials. The following
standards have been set up for raw material :

Material Standard Mix Standard Price per kg.
A 40% T4
B 60% 33

ng is 15%. During September, 2012, the company produced

The standard loss In process tion of stock and purchases for the month of

AR nits of finished output. The poSi
2 is as under:
nweptember. 2012 i

Purchase during
Materel et 3?::2::2 September, 2012
01:09:2012 . Kg. CostX
Kg. 5 80 3,400
A 35 50 1.200 3,000
3 40 ing FIFO method of issue of materials.

Calculate all materi

—_
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terial usage variance at
Q.16. Calculate material price variance at the time of purchase and ma

the time of consumption from the following x Y
Kgs s anog{;d 6 25;
\ 000 v ,
Raw Material Purchased 2223 4 . 3,950 —
Raw Material Issued to Factory 2 Ly _ 1,000 —
Opening Stock at Factory 200 = 1,250 —
Closing Stock at Factory

Y.
Standard Price T 1.90 per kg. for 'X' and ¥ 1.30 per kg. for

er unit of Output : o
Standard Usage of Input p Material X' Material ‘Y

Product A 1 kg. 1kg.
Product B 0.5 kg. 1kg.
Output during the period :

Product A = 1,130 units

Product B — 2,550 units.
c i e 6"x6"x —". Compute material cost
Q.17 A company makes plastic tiles of standard size 6"x6"x o P

variances on the basis of following information:-

A standard mix containing below mentioned input is expected to produce 20,000 square

feet of tiles %" thickness.

Material Quantity (kgs.) Price per kg.
A 600 X 9
B 400 R 6.50
C 500 T4
During a particular month 8 mixes were processed and actual materia! consumed were:
Material . Quantity (kgs.) Price per kg.
A 5,000 T 8.50
B 2,900 X 6
C 4,400 < 4.50

The output actually obtained was 6,20,000 tiles.

Q.18. Compute (1) D.LC.V.; (2) D.LR.V.; (3)D.L.E.V. from the following :
Standard  Labour Rate . 90 paise per hour '

Hours per unit 10
Actual Unit produced 500
Hours worked : 6,000
Actual Labourcost : ¥ 2400
Q.19. Compute all Labour Cost Variances :
Standard  wages :
g::ge ¢ 90 Labourers @ ¥ 2 per hour
Aokl e 60 Labourers @ ¥ 3 per hour
Grade X
e 3 80 Labourers @ % 2.5 per hour

Budgeted hours per labourer
Actual hours per labourer
Budgeted production (gross)
Standard Loss
Actual Loss

70 Labourers @ 2 per h
1.000 per hour

800
5,000 units
20%

900 units,
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.20-
wWorker S
“:;"U- uf‘l‘@ﬁ-‘!‘ﬂg
orkers  CUNY Wages Rat ACTUALS
Skilled er labourer © F:q;h of Hourly wages
gemi-skilled 75 ers Rate per
uUn-skilled ;g Eg - Labggrers
ompletion
Comp ofJob . Eudgeted 30 gg 30
Ces. 32 hours

a21. Compute (1)DLC.V.: 2)p LRy

.~~~ Standard Time (3)D.L
LEV.: _
~ Cost ;Eahuurs Per unit (4) L.T.V. from the following :
e
Actual Production - 50;‘ r.hnm
Hours units

- 8.000 (which i
Labour cost : % o4 BE:hlch iIncludes 200 idle hours)

W gang of workers usually consi
standard hourly rate of ¥ Sists of 10 men, 5 women and 5 boys. T '
1.25, % 0.80 and ¥ 0.70 respectively. In H‘ue nE?r%a?iTveg;g;g

eek of 40 h '
W ours the gang is expected to produce 1,000 units of output

n certain w .
:Jaid at T 1.ggft%ﬂat.aagnaggdr:gn;g;ei:;;:hm?n* ':: women and 3 boys. Actual wages were
’ . vely. . :

960 units were produced. Calculate various I.azou:q:ari:f;:’ere lost due to idle time and

3. The standard output of ‘X' is 25 units |
| per hour in a manufacturing depart
company employing 100 workers. The Standard wage rate per labour hg;aur i-g E's:.‘ l:;.TI et of @
In a 42 hour week, the department produced 1,040 units of ‘X' despite 5% of the time paid
was lost. The hourly rate actually paid were ¥ 6.20, ¥ 6 and T 5.70 respectively to 10, 30

and 60 workers. Compute relevant variances.

Q.24. From the particulars given

/ Variance, Labour Rate Variance,
One tonne of materials input yield

of material is ¥ 20 per kg. Number 0
per employee pe
actual quantity of material use
Actual output obtain
wages paid is T 6.50 p

Q.25. Actual variable overheads

roduction 500 units.
unit 30 minutes. Compu

below, compute : Material Price Variance;, Material Usage
|dle Time Variance and Labour Efficiency Variance.

s a standard output of 1,00,000 units. The standard price
f employees engaged is 200. The standard wage rate

r hour is T 6. The standard hourly output per employee is 100 units. The
d is 10 tonnes and the actual price paid is T 21 per kg.
~ Actual number of hours are 50 and actual rate of

ed is 9,00,000 units ) anc
cluded in above time 1S %4 hour.

er hour. Idle time paid for and In

ble overheads T 12,000 Budgeted

Budgets varia
X 10,000 g al hours 200 Standard ime for one

Actual production 460 units Actu

te all variable

y&_ | Budget Actual
' 5,000 6,000
Fixed Overheads (%) 2 000 2?33

Hours 1.000 1,

Production (units)

d variances:
Compute all fixed overhed o rate TSP + our. Actual hours
ov nt. Actual overhead rate

b
e

0
Qat. Budgeted overhead ELEEfeig 21 000 houfrs shoul
worked are 52,000, W p :

X 4.9 per hour.

4 have been Spe

Compute over
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Overhead Volume Variances ¥ 1,000

QJB/. Given (a) Overhead Cost Variances 4 1.42:21 éﬁ;ﬁg
(A). Budgeted hours 1.000: (€) Budgeted OV

I § per hour.

Required ;

1. Overhead Budget Variances

2 Actual Overhead incurred

3. Actual hours

4. Capacity variance

5. Efficiency variance

6. Standard hours for actual output.

: Budgeted
\-BH 10,000

Fixed Overheads (%) 2000

Output (units) 10

Standard hours per unit -

Actual hours

Compute .

1. FO Cost Variances

2. Expenditure Variances

3. Volume Variances

4. Capacity Variances

5. Efficiency Variances

Q.30; Vinak Ltd. has furnished you the following informati
/ Budgeted

Qutput (units) 30,000
Hours 30,000
Fixed Overhead T 45,000
Variable Overhead % 60,000
Working days 25

Calculate variable and fixed overhead variances.

7 6.000; (d)

Actual Overhead Rate

Actual
12.000
2.100

22,000

on for the month of August, 2012 :

Actual
32,500
33,000
50,000
68,000

26

Q.31. The following information is available from the cost records of Company for February,

2012 :

Material purchased : 20,000 pieces
Material consumed : 19,000 pieces
Actual wages paid for 4,950 hours
Factory Overhead incurred

Factory Overhead Budgeted

Units produced 1,800

Standard Rates and prices are :
Direct Material Rates T 4 per piece

Standard Input 10 pieces per unit

Direct Labour Rates ¥ 4 per hour
Standard requirement 2.5 hours per unit
Overhead ¥ 6 per labour hour.

Required : (a) Show the Standard C

Overhead Variances for February, 2012,

ost Card; (b) Compute all

4
88,000

24,750

44,000
40,000

Material, Labour and
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The details regarding g CA R. K. MEHTA
'5,":’2 " period are as follows -
r4

] Yy ABC Company for a particular

)

Stand
Direct Materials ——————— 008t (for one ypyy

Direct Wages 10kgs. atz 759
Fixed Overheads S hours at 7 g gg Rs. 15
: Total Standard ca“st“*ﬁa—___f’_hgy_rs at< 10.00 : gg
Actual Cost — Direct Materials 7 g 435 105

and
Analysis of Variances indicateq the foll nd Direct Wages 7 16,324,

— ; owing :
Direct Materials Price
Direct Wages X 585 (Adverse

\—(\—7\”&*_& < 375 (Favourable)
Fixed Overheads Rate %636 (Favourabig) E

Expenditure 2 A fficiency ¥ 360 (Adverse
00 (Favourabl
Calculate the following items - €) Volume X 750 (Favourable)

1. Actual Output Units 7. LabourA Allowed

Actual Price of Materi | o oW
2 sl umniH ”:“E“ per kg. 8. Amount of Fixed Overhead Incurred
3. Actual q y ol Materials Consumed 9. Amount of Fixed Overhead Absorbed
4. Quantity of Raw Materials Allowed 10. Fixed Overhead Capacity Variance
5. Actual Wage Rate per Labour Hour 11. Fixed Overhead Efficiency Variance
6. Actual Labour Hours worked. 12. Budgeted Output Units

Q.33._TQM Ltd. has furnished the following information for the monthending 30" June,2012 :

j Original Budget Actual
Units prnduced and EDid 80.000 B 72.000
Sales 3,20,000 2,80,800
Direct Material 80,000 73.600
Direct Wages 1,20,000 1,04,800
Variable Overhead :g.ggg i'giggg
;:;f g;;rhead 2,80,000 2,55,200
The Standard Costs of the product are as follows :
Particulars PE{, 11'"5‘;
Direct Material (1 kg at ¥ 1 per ko) 7 150
Direct Wages (1 hour at 7 1.50 per hour) 7 0.50

]
Variable Overhead (1 hour at 0.50 per hou ) Z 0.50

| Z 0.50 per hour)
Fixed Overhead (1 hour at .t 78,400kg. of material were used and 70,400 labour

Actual results for the month showed th
hours were recorded.

tandard cost for actual output and

R : wing S
ﬂl-'llliraf .PrEpare g statement for the month showing

compare with _actual
9 Calculate Material, Lab

resuﬁ;riabm Overhead and Fixed Overhead Variances.
our,
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Q.34

L
—

WZED Ltd. has a standard costing system for its single output.

Q.36.

- he details of acty
A Company operates standard cost system. The following are 1 al

production, costs and variances for November, 2012. Cost variances —
Production and cost (actuals) : i 4 "
Production 10,000 units | Direct materfﬂ: ——FSEZQE L4 Zgggg Ei}
Direct materials (1,05,000 kg) 7 520,000 | Direct matirrlﬂ_'_ SRE“ o Z 15,500 {Ai
Direct labour (19,500 hrs.) it g::z:: :::gur — Efficiency < 7,500 (F)
Variable Overheads T 4,10,000 Variable Overheads T 10,000 (A)

Prepare Standard Cost Statement.
Their standard cost for 1unit

is as follows :

Material : 1 kg. @ T 10
Labour : 0.4 hous @ ¥ 20 per hour

Variable factory overhead : @ X 10 per
Fixed factory overhead : @ ¥ 5 per stan

standard direct labour hour
dard direct labour hour

L4
10.00
8.00
4.00
2.00
24.00
The following operating data were taken for May, 2012 :

(i) 500 units were manufactured.

(i) Budgeted 220 direct labour hours.
(i) 520 kgs. of material @ ¥ 11.00 was consumed.

(iv) 190 labour hours @ ¥ 19.00 were used.
(v) Actual variable factory overhead : ¥ 2,090.
(vi) Actual fixed factory overhead : ¥ 1,150

You are required to calculate the different cost variances.

Vikas Limited had adopted a Standard Costing System. Tihe standard output for a period

Is 10,000 units. The standard cost per unit is given below :
L4
Direct Materials (6 kgs at¥ 3 per kg.) 18.00
Direct Labour (6 hours at ¥ 2 per hour) 12.00
Direct Expenses 2.00
Factory Overheads :
Variable
Fixed 1'23
Administrative Overheads (Fixed) 1.20
Profit per unit 99.40
Selling Price per unit .50
40.00

Production and sales during the period
worked out at the end of the period

was 7,200 units. The following are the variance

Direct Materials Favourable () Adverse (%)
Erica Variance
sage Variance N 8,500
Direct Labour 2,100 o
Rate Variance
Efficiency Variance & 8,000
Factory Overheads 6.400 -
Variable expenditure variance
Fixed expenditure variance 800 -
Fixed volume variance 800 -
3,360

____—————_._______

_—
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Administrative o
Expenditure ::’r';gﬂﬂds Fa
Volume variance Nce Vourable (%) Adverse (%)

Required :
(1) Standard Cost for A

B 800
3,360

q.37. Afirm has budgeted sg
€S of 20 000
) units

a price of X 6 per uyn;
_ Nit. Actyal of X a -
units ot Y at¥ 8 per ypip Curns;.hlf: fDlrthE pﬂrmtiaarélgz EEJE 10 and 30,000 units of Y at
sales v MUD units of X at? 9 and 25,000

a.38. From the following, calcylate . ariances.
B dfiances —
Product Unitsug’g'ﬂti—__h____ — -
S.P./ Unit | ¢ | Actual |
5 800 T 15 oL Unit | Product Units S.P. Unit |
! 1.200 3 20 <10 X 1,500 214
—— 312 Y 1,000 7 21

IMP
ORTANT THEORETICAL QUESTIONS

Q1. Write short notes on the following :
(i) Standard Cost; (ii) Standard C ng: (i
i Ust " #Ew ;
Ans.: (i) Standard Cost e Wivanance Analysls.

It mea - '
neriod ’;i;;:’-‘apl'il% determined cost of future, ie what should be the cost in future
b the ideal cgst';etr; 5;; of DF'El'stlng conditions. Standard cost is important because
incurred and it is also the base for com |

| parison with actual
cost. The cnmpanson_nf standard cosl with aclual cost is essential because it helps
us to alﬁcertaln thl._=: dlffer_ence between the expected cost and actual cost so that
appropriate corrective actions can be taken in future to prevent such difference.

(i) Standard Costing :
In the meaning of standard costin

a) Determine of standard cost

g, following elements are included :
for each elements of costs (Matenals, Labour and

Overheads).
b) Comparison of actual cost with the standard cost, the difference between the two
is termed as variance.
he reason of variances.

Analysis of variances to ascertain
of management so that

of information to the
be taken.

C
J appropriate level

d) Presentation

remedial steps may
ividing total variances In such a way

(iii) Variance Analysis - | oy sub-divi
. - es -
It is a process of analyzing. vanar- / below standard performance.

that the management can assign resp

s Ve mportant beca
ol ntrollable and st

f cuntm‘i‘i‘abta varl

of it we can ascertain
taken to reduce such
pful to ascertain :

use with the help
eps can De

Variance analys!s
ances are hel

those variance '.f.fhir:h are _r;DD
variations. A detailed analys!

1 the amount Of variance
the causes of variance

2.
3. the person res
4. the corrective &

\v
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ost and eslimaled cOS

Q.2. Distinguish between standard ¢
‘will be’ wherea

Ans.: (1) Estimated cost is in the nature of cost
of cost 'should be;

(2) Estimated costs ar
Standard costs are

(3) Standard cost are meant for
pted standard costing system

costs.
. ich has ado b Pl
(4) Standard costing is used by @ firm wE;ﬂT B has adopted historical system of

whereas estimated cost is used by a
asceriaining costs.

e calculated by adjusting past figures to possible future changes
ientific basis.
ver calculated on scientific ba: |
howe control purposes which 1 not the case with estimateg

and Budgetary Control.

et ' standard Costing : oY
Q.3. Distinguish between ounts whereas standard cost Is @ projection of

Ans. (1) Budget is a projection of financial acc

Cost Account _ ol and
(2) Budget covers tne operations of the business as a Wnoie :
extensive in nature. _ |
business, €.g. Sales, Produdction,

therefore, it is

ared for different functions of
) Boronase, ofc. where rtained for each elements of cost.

Purchase, elc. whereas standard costs are asce

E.g. Material, Labour and Overheads. |
requirement of financing , material

(4) Budgets are meanl lo be used for forecasting | |
labour etc. Standards on the other hands, tells what the costs should be .

(5) Budgetary control is possible
applied in full.

Besides above mentioned joints of differences, there are some principles which are

common to both standard costing and budgetary control. They are :

1. Selting up the target performance
2. Measurement of actual performance
3. Comparison of actual performance with the target performance

4. Analysis of variances between actual and standard performance
5. Taking corrective actions, wherever necessary.

Q.4. Briefly explain various types of standards.

Ans.: 1. Basic Standard : These are long term standards and remains unchanged for a long

period of time.

2. ldeal Standards . These are the standards to be altained under the most favourable

conditions possible.

3. Normal Standards : Such standards are based on average performance in the past.

They are attainable under the normal conditions.

in parts whereas standard costing technique has to be

4l M .
f;;?;?:tl]e'e S;trafgftzrdﬁh. These are the standards which can be achieved with
- INey are based on practical considerations and they are also

called the expected or practical standards

5. Loose or L '
ax Standards : When the standards are deliberately set below efficiency

level to show |
favourable variances. they are called the loose or |ax standards

6. Revised Standards : Wh
¢ - WWhen the standards
conditions, they are called the revised stanadr:rgg

7. Current Standards
standard - Standards set for the current

anged to correspond with the current

Period are known as current




1. Cost Benefit Analysig - 9etary con

Qation |
N only when itnl.;ufluas Some costs of its own and a decision 10
n. ound that the financial benefits is more than
2. Amount of Variance : A

, . limit can
lﬂ\'EEtIQatﬁ‘d Or not. For Exampjbe Set which will decide whether vanance should bo
worthy of investigation,

©. @ variance of 5% of 2 5,000 may be considered

material price variance due to jmraer, Co 0! be investigated. For example. 3

investigated. On the ntheru Imposition of additional taxes by Govt. need not be

investigated if the am hand, the controllable variances should be fully
ount of variance is above the limits prescribed.

“Calculation of variances j (s
an end”. Discuss. N standard costing is not an end in itself, but a means to

It is QE”EFIE'";' understood that the purpose of standard costing is to compute the
variances. In fact, the computation of vaniances can be termed as first step and the main
purpose of management starts after computation of these vanances. The management

should act as eafly as possible to investigate the causes of vanances. It 1S necessary
because of following reasons :

1 It helps the management to place responsibilities for vanances

o \Waste, scrap and losses, if not corrected immediately, continué to increase.
3. |t prevents of re-occurrence of variances

4 To scientifically plan and take various important decisions for future course Of

business operation.

Hence, the end is the control aspect and the computation of vdriances 1s only a means 10
achieve this end.
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REVISIONARY QUES‘I"IDHS

Direct Material Cost Variances

Q.1. The standard mix of 8 product 1s:

X - 60 units @ 15 paise per unit
Y - 80 units @ 20 paise per unit
G - 400 units @ 25 paise per unit

240 units , m this mix. .
10 units of the finished product should 5 Dmamer:c::-:lr'lc;zleted and the consumption was as

During the month of February, ten mixes were

;ﬂderi - 840 units @ 20 paise per unit
Y - 960 units @ 15 paise per unit
z - 840 units @ 30 paise pef unit

2,440 units _ .
Actual output was g0 units. Calculate all miaterial variances.

X | and D (filter) and
Q.2 A certain insecticide is manufactured by mixing four chemicals A, B, C ( )

- for the product is as follows:
pfﬂCEEEln'.g‘ ;::1; is;me, The standard Eﬂ:ﬂtliil\‘ta orthe p o mdard price! kg
(standard proportion) (Y)
A 5 kg 20{';]
B 20 kg D
C 25 Kg 2;3
D (filter) 50 kg
Total input 100 kg
Loss in prncessing gg !I:g
g
During April, 2012, 19,000 kg of insecticide was produced incurring a;tual cost as follows:
A=1,010kg 2.12,100
B =4,200 kg 2.05,800
C =4,800kg 1.00,800
D= 10,200 kg 66.300

Calculate the following variances
i.  Material cost variance

| Material price variance

il, Material mix variance

iv.  Material yield variance

v.  Material usage variance

Q.3 The standard cost of a certain chemical mixture was:
60% of material A at< 2,500 per tonne.
40% of material B atX 3,500 per tonne.

A standard loss of 10% is expected in production. Following materials were consumed
during the period under consideration:;

115 tonnes of material A atX 2,300 per tonne.

85 tonnes of material B at¥ 3,600 per tonne.

Loss in production was 29 tonnes.
Calculate:

(a) Material price variance;
(b) Material usage variance;
(c) Material mix variance; and
(d) Material yield variance
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a,l

Q.6

Q7

The standard cost of g B

40“{% of materi hEmiI:al .
rial Mixture ‘an ;
60% of materia| E 3R 400 per i © ®

A standard loss of 10y s 5 X 800 pe

CAR. K. MEHTA |

180 kg of m ' are avaijlg

220 kg of m:'t:z:-_!"*i A bag b:;ifsr the manth of Dec

The actual production Etl B has been useu al? 3s ember, 2009
Calculate: OT'AB' is 359 i 9 Séd at? 680 per kEI.

(a) Material cost varianc ; :

(b) Material price uarians :

(c) Material usage “ErianE' |

(d) Material mix varianCEFe.

(e) Material yield variance

RS Ltd. has establish
ed the |
following standard mix for producing 9 to
nnes of product £

5 tonnes of material A
at¥ 7 T
3 tonnes of material Bat¥ 5 EZ'I'_ :ﬂnnes 35
2 tonnes of materialC at¥ 2 per tzr::\: 1
4

A standard loss of 10°¢ - - T 54
0% of input is expected to occur, Aetual input was as under:

53,000 tonnes of material A at ¥

- 7 perto
28,000 tonn<=s of mat erial B at 5p.3£] p:?teusﬁnes
19.000 tonnes of material C at¥ 2.20 per tonnes.

Actual output for a period was 92,700
: ; ton
Compute material cost variances. nE3 of praduct Z.

80 kgs. of material A at a standard price of ¥ 2

* per kg. and 40 kg. of malenial B al «
staqdard price of T 5 per kg. were 10 be used to manufacture 100 kgs. of a chemical. |
Dl._mng a month, 70 kgs. of material A priced at ¥ 2.10 per kg. and 50 kgs. of material B
priced at X 4.50 per kg. were actually used and the output of the chemical was 102 kgs.

Find out the material variances.

Tutu Ltd. manufacures a simple product, the standard mix of which Is’
Material A 60% at T 20 per kg.

Material B 40% at T 10 per Kg. |
put. Due 10 shortage of Material A, the standard

Normal loss in production is 20% of in |
mix was changed. Actual results for March, 2009 were:
Material A 105 kg.atI 20 per kg.
Material B g5 kg at¥ 9 per kg.
200 kg.
|
Lnupslg __,_-32 Ilig'
1 .
Output _165 K9
Calculate:

(i) Material Price Variance:
(i) Material Usa€ \/ariance
(iii) Material Mix Variance. an
(iv) Materia vield Variance
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Direct Labour Cost Variances _ d4s for which have been
Qf A company produces only one article, the prime cost standar
{ established as follows: per Completed
Piece
.1
Material 5 Ibs. @ ¥ 4.20 : 29

Labour 3 hour @ X 3.00

‘ ired com
The production schedule for the month of July 2008 require

——— " CAR.K MEHTA|

pletion of 5,000 pieces,

However, 5,120 pirces were actually 1::-::1m|::)Iet«at:i-E{I to 30,000 Ibs. of material at the total

t
Purchases for the month of July EUIUB amoun h
invoice price of 2 1.35,000. Production records for the mo
following actuals results:

Materials used
Direct labour 15,150, hours

Calculate appropriate material an

s gathered from the labour records of P

labour Z 20,000. Time card analysis Shows that 9,000 hours wWere

lines. Production reports for the period showed that
each having standard labour time of 172 hours and a stan

Calculate the labour variances.

25,700 lbs.
7 48,480

dlahuurvanances.

Q9 The following information i

Q.10 100 skilled workmen, 40 semi-skillled workmen a
for 30 hours to get a contract job completed. The s

and Z 24 respectively. The Jo
and 70 unskilled workmen who Were paid I 65,
wages. Find out the labour cost variance, labour
labour efficiency variance.

tandard hourly wages we

Variable Overheads Variances
Q.11 The following data is given:

Budget Actual
Production (in units) 400 360
Man hours to produce above 8,000 7,000
Variable overheads (in rupees) 10,000 9,150

Calculate variable overhead variances.

Fixed Overheads Variances

Q.12 The following information is received from the books of a Company

Normal overhead rate < 3/hr.
Actual hours operated 20,000
Allowed hous for actual production 21,000
Budgeted Overheads L4 TU'UUD
Actual overheads 4 ?2IUOD

Calculate Fixed Overhead Variances.

Q.13  The following information is available from the records of a factory:

. Bud

Fixed overheads for May (%) u5 Dg;{; Actual
Production in May (units) 1000 r?.G‘Ell:)
Standard time per unit (hours) 10 050

Actual hours worked in M 0o
ay —_ 11,000

th of July, 2008 showed the

Ltd. Payment for direct
worked an production
4.000 units have been completed,
dard labour rate of T 2 per hour.

nd 60 unskilled workmen were to work
reX 60, T 36

b was completed in 32 hours by 80 skilled, 50 semi-skilled
7 40 and ¥ 20 respectively as hourly
rate variance, labour mix variance and
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Compute:

CA R. K. MEHTA

1. Fixed overhe
: ad
2. Expenditure ua”';ﬂst Variance
3. Volume Variance .
g_ Capacity Variance

Efficiency Varange

a.14 A company has g nor

in @ month. The fixeqy '::EI Capacity of "
requied tom Verheg 0 Machi _
anufactyre one Ines, working B hours per day of 25 days

. u
, un ged at ¥
In April, 2008, the 't of Product is 4 nn:;:"'””“ Per month. The standard time

C
produced 5,305 ynijts ;";ﬂa”? Worked 24 4
Compute:
1. Efficiency varian
_ ce
2. Capacity variance
3. Calender variance
.;, Expense vVariance
6

ays of 840 -
ual fi machines hours per day and
| fixed Overheads were ? 1.42.[1:}1]. r

Volume variance
Total fixed overheads variance

: been col|
ec
various fixed overhead variances fnrzdpgﬁg }he Cost records of a unit for computing the

Number of budgeted working days

gu?ged man-hours per day 25
utput (budgeted) pe _ o 6.000
Fixed overhead cn:t arsmbaur:j;:gd{'" units) 1
Actual number of working days T 1,50,000
Actual man-hours per day 27
Actual output per man-hour (in units) 6,300
Actual fixed overheads incurred ? 156 L?Dg
Calculae fixed overheads variances:
(a) Expenditure variance
(b) Calender variance
(c) Capacity variance
(d) Efficiency variance
(e) Volume variance
() Fixed cost variance
' under .
Q.16. The standard cost card Is as un € Por Kg. of
Finished Product
20
Direct Material 2 kgs. @ X 10 per kg. : 60
Direct Labour 3 hours @ ¥ 20 P}’-‘L“ﬂ“ 90
Fixed Overhead (3 hrs. @330 r.) 170
Total ‘
ind i 00 units
Budgeted outpul for the period 1S 1.0 < under:
i d cost data fora month are
Actual production an _—
Actual Production . 1.‘:40 l:m“s
Ed LM;SEH?I 1140 units
-—’
732,000
— Overheads cost (2,900 kgs.) 7 68,000
Actual Direct Material L0 (3,300 hours) 7 88,000

Actual Direct Labour co

Actual Fixed Overhead

"N\_____________,..—-—
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Q.17.

Q.18.

Q.19.

You are required to work out the fpllnwing variances '
(i) Material price and Usage Variances, e
(i) Labour rate and Efficiency Variances, an

(in) Fixed Overhead Budget Variance.
C Co. for the last one week are

The details regarding a food product manufactured by AB

as follows _
Standard Cost (for one unit) @7 1.50 15
Direct Materials 10 kgs. @2 8.00 A0
Direct Wages 5 hours 7 10 50

5 hours @ N

105

Fixed Overheads

Actuals (for whole activity)
Direct Materials
Direct Wages
Analysis of Variances
Direct Materials

26,435
716,324

7585 (Adverse)

E;;Eu 7 375 (Favourable)
irect Wages (Labour)
Dlreéate ak ? 636 (Favourable)
Efficiency T360 (Adverse)
Fixed overheads
Expenditure T 400 (Adverse)
Volume T 750 (Favourbale)

You are required to calculate :

(i) actual output units;

(i) actual price of material per unit;

(iii) actual wage rate per labour hour,

(iv) the amount of fixed overhead incurred; and
(v) the production overhead efficiency variance.

From the following data available in the books of a manufacturing concern, work out the
fixed overhead variance analysed into various heads !

Budgeted output for the year 2,40,000 units
Budgeted fixed overheads for the year < 4,80,000
Standard output per hour 100 units
Actual output for the month 17.000 units
Actual fixed overhead for the month T 48 000

The company follows a budget year of 50 weeks with 48 hours per week. The month
consists of 4 working weeks. Due to idle time, two hours are lost every week.

Due to erratic supply of raw materials, the com . _
: : - pany had to cu
operations to 5-day a week instead of six. y rtail its manufacturing

The following details are furnished by a firm which employs standard costing for cost control -

Standard / EFudget Data Actuals for april, 2003

Normal wqulng hours p.m.= 2,000 hrs. Hours worked =1

Stapdard time required/unit= 2 hours Actual production - 132[[]1 units
Variable overheads = X 12/hour Actual variable overneads = ?'25 000
Budgeted fixed overhead = 2 80,000 Actual fixed overheads =3 ?2.DUU




Q.20.

. _‘_--_"_"——-..
You are required tg k— —
Alculage the _____ _CAR.K.MEHTA

: ea
Variable ﬂverheag E'MF"EL"‘l':htur

- g I
Variable overheaq ;IEHC.F Variance
Fixed overheaq e ‘faflancer

Fixed overheaq ... ty ”a”aﬂﬂé;
Fixed Ooverhead

0~ O N B WM -
L
~
(4]
L
(@)
L =
[y ]
-
-
(D
(1}
L
L =
c
=
b |
(4 ¢
<
o
-
o
|
]

0
The standard cogt of t andan, ~sting to control
Ne prodyct Manufactyred p .
| the ¢
Direct material : 4 K. @2 4 Y

Its variable production cost.

Ompany is given below -
0 kg, 4

D|rE.:Ct Labour : 5 hrg. @ 16 hrs 160
Variable overheads (5 hrs. @7 1-2mr } 80

‘ _60
During a week, the firm m 300

anufactured 120 units of

‘incurred were as follows - the product. The details of actual costs

Actual costs incurred :
Direct Material . 500 kg. @2 38

Direct Labour T?me recorded in Time QOffice 620 hrs.
Time spent on production 580 hrs

| Actual wages paid 11,200
Variable overheads . 27500

Calculate the total cost variance.

Sales Variances

Q.21.

Sales Margin Variances
Q22. X Ltd. had budged the fol

From the following information about sales, calculate:
(a) Sales value variance

(b) Sales price variance

(c) Sales volume variance

(d) Sales mix variance

(e) Sales quantity variance — ]
Products Standard ___Actual |
r Units Rate (<) Units Rate (3)
5,000 5 6.000 6
A 4,000 6 5.000 :
E 3,000 i 4,000

s for the month of August, 1912

lowing sale

. 0 per unit
. 800 units @3 10 :
Product A- 8 nits @ T 200 per unit

The actual sales for t
Product A 90

0 units @ :
@3 180 perunt espectively

e different variances to €XP

lain the difference beween the
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COST ACCOUNTING 9.18
Solutions to Revisionary Problems
Ans. to Q.1
SP x SQAO SP x RSQ SP x AC ﬁph:fu D
M, M; Mo 0.20 x840
X 0.15 x 540 0.15 x 610 0.15 x 640 ;1 128
=7 81 =% 91.50 =% 96 S E » Bar
Y 0.20 x 720 0.20 x 813 ”-_22 "1 gg” -7 144,
=7 144 =3 162.60 - G
Z 0.25x 900 0.25 x 1,017 0.25 x 840 Ujg 223“
=3 225 =% 254.25 =T 20 |
T 450
DMCV =M, - M,
X=81-128 = T 47(A)
Y=144-144 = Nil
Z=225-252 = T 27(A)
T 74 (A)
DMPV = M; — M,
X=96-128 = T 32(A)
Y=192-144 = T 48(F)
Z2=210-252 = T 42(A)
T 26 (A)
DMUV = M; — M;
X=81-96 = T 15(A)
Y=144-192= T 48 (A)
2=225-210= ¥ 15(F)
T 48 (A)
DMMV = Mz" M:i
X=9150-96 = T 45(A)
Y=16260-192= T 29.4 (A)
Z=25425-210= T 44.25 (F)
2 10.35 (F)
DMYV = M1 - Mz
X=81-91.50 =T 10.50 (A)
Y=144-162.60 = T 18.60 (A)
Z=225-254.25 = ¥ 29.25 (A)
T 58.35(A)
SQAO = Actual Output x Budgeted Input for 1 unit of Oufput
X = 90x6 = 540 units
Y = 90x8 = 720 units
Z = 90x10 = 900 units




